UGC NET 2021 Sociology

Topic:- Sociology_Set2_A

1) Which one of the following is NOT correct according to Marx?

s @ oA foworfeiRaa 3 A dler 1 &t odl 3 ?

[Question ID = 1351][Question Description = S2_qSNz_PG_SCY_QO01]
1. Political economy conceals the estrangement inherent in the nature of labour by not considering the direct relationship between the worker (labour)
and production. /3Iseisilicie sifidbiicn 9lfdim I e ¥ sidlbiiad rcmIa dl PRPIR (D) iR Iruigel d dla Yrast Ade Dl Aok 88 AYDT Dkl &

[Option ID = 5401]
2. The direct relationship of labour to its products is the relationship of the worker to the objects of his production./gfdi @1 33d Icure A yrer e

DEPIR 3AD IcUIGo!l a3 A e &

[Option ID = 5402]
3. Labour is external to the worker/ gpt ®wRBIR 3 AE2 (3ICHT) BT 3

[Option ID = 5403]
4. Life activity and productive life for labour is to maintain a luxurious life./gfde @ fere Sftaer fiRmdem 3l 3curcd Sfiael SRPIGRI® Sfidet Sftelr &

[Option ID = 5404]

2) Who defined class as ‘when a number of people have in common, a specific causal component of their life chances'?

'S gl A <lidll 3 JoId Sildol B delldi 3 b Aol fafdree YRullcAd e 8l Aus gof oI ufesirar fdvor & ?

[Question ID = 1352][Question Description = S2_qSNz_PG_SCY_QO02]
1. Karl Marx/ref et

[Option ID = 5405]
2. Max Weber/dax daz

[Option ID = 5406]
3. Friedrich Engels/®s3ausifica

[Option ID = 5407]
4. Antonio Gramsci/wociforil bt

[Option ID = 5408]

3) According to Durkheim, it is possible to make the claim of being Science, as systematization, classification and
offering explanation on the basis of which of the following?

forraiferRaa 3 A fpadd snemR Uz gudla & 3eRIR AU, doifazvl iR RIS B0l P! [Siiel Blol BT SIar Dol I 3 ?

[Question ID = 1353][Question Description = S2_qSNz_PG_SCY_QO03]
1. Internality/3ig¥ofluct (Scafeict)

[Option ID = 5409]
2. Subjectivity/smcauzdar (Jsoirefact)

[Option ID = 5410]
3. Falsifiability/frezmuor (wreififafaferct)

[Option ID = 5411]
4. Externality/arssiuer (waicorerct)

[Option ID = 5412]

4) Distinct economic systems that are characterized by a specific set of relations of production combined with forms of
productive forces is called:

3 faforse snfifer yurclt ol o= war sirr @ frRId! frdadar Scurce @ fafdrse e @ Aden Afda Scarce Hul A J3t a1 ?

[Question ID = 1354][Question Description = S2_qSNz_PG_SCY_Q04]
1. Means of production/3cug® @ et

[Option ID = 5413]
2. Instruments of production/3curgas d =g

[Option ID = 5414]
3. Mode of production/3curget &t yumeft



[Option ID = 5415]
4. Relations of production/3curcer @ ider

[Option ID = 5416]

5) Achievement, Self-discipline and Individualism that are instrumental on task-oriented represent which type of societies?

Iucifeer Fa-3IgIoMRIal iR cAftbdrc Sit BRI IoRAdr 3 ABRID 3l ds [p YbR @ Al Bl gorfar 3 ?

[Question ID = 1355][Question Description = S2_qSNz_PG_SCY_QO05]
1. Small societies/®¥ st

[Option ID = 5417]
2. Folk societies /el st

[Option ID = 5418]
3. Advanced societies/3cora Jw@irst

[Option ID = 5419]
4. Peasant societies/aqud WISt

[Option ID = 5420]

6) Who among the following considered person-to-person relations and actually existing relations as constituting the social
structure?

g fopaaol #irel1 fob AIfSID Fivdoll 3 cafed @1 aftd @ Arer Asht ATIRIG Ader ardaa A aemef Fder i 3 ?

[Question ID = 1356][Question Description = S2_qSNz_PG_SCY_QO06]
1. M. Ginsberg/va. forearast

[Option ID = 5421]
2. A. R. Redcliffe Brown/u. 3iR. 3sfdrere- 3ot

[Option ID = 5422]
3. Raymond Firth/3¥is wef

[Option ID = 5423]
4. R. K. Merton/3m.@. sicar

[Option ID = 5424]

7) 'All truths are ideologically biased, all truths ultimately reflect the interest and biases of social groups’, whose views are
these?

w3t 7 Agifers Fu A ugrurdl A 3, weft 4 siaa: ARSI ISt D Faref siiz ggiva ot cerfd 3 s fbam! aa 3

[Question ID = 1357][Question Description = S2_qSNz_PG_SCY_QO07]
1. Karl Marx/rct amast

[Option ID = 5425]
2. Karl Mannheim/mrct dioiaa

[Option ID = 5426]
3. Charles Lemert/arcf it

[Option ID = 5427]
4. Clifford Geertz/frerols sficst

[Option ID = 5428]

8) Which term is used to refer to the characteristics or properties of the studied object?

31ezRIel bl 318 avq bl fardruarsii siiz syuierdt @l FHehia wol @ ferg b ereg (cat) w1 sFAaTer fovan Sirar 3 ?

[Question ID = 1358][Question Description = S2_qSNz_PG_SCY_QO08]
1. Hypothesis/es/qgimcuon

[Option ID = 5429]
2. Research questions/eher gsst

[Option ID = 5430]
3. Ethics/sfiferemee

[Option ID = 5431]
4. Concepts/sm@emums

[Option ID = 5432]

9) The reasoning which proceeds from a general truth to a particular truth is called:



dg Ao Sl AT Jd A fafdree Jra & 3z Sirar 3 3 o= a1 SIrdr & 7

[Question ID = 1359][Question Description = S2_qSNz_PG_SCY_QO09]
1. Inductive/ smewiocas

[Option ID = 5433]
2. Premise/smRa

[Option ID = 5434]
3. Deductive/fopmrolcads

[Option ID = 5435]
4. Prediction/ sifdrerarft

[Option ID = 5436]

10) Which book on research methodology was written by Emile Durkheim that is considered one of his first works?

srefRierrel gifaf @ an 3 olel Al yrawm sarsd gxila grI forxdl o1 3 ORI v yri¥ie «rRl #Aen siar 3 ?
[Question ID = 1360][Question Description = S2_qSNz_PG_SCY_Q10]

1. Methods in Social Research/ders1 sat 2ot Bx<t [Option ID = 5437]

2. Research Methods in Social Relations/ ¥t dtersa1 sot 3eret Retersar [Option ID = 5438]

3. Rules of Sociological Method/ ¥t siiw 2MfSricifSipet ders [Option ID = 5439]

4. Research Methodology in Social Sciences/ {3 ddSciisht sor 2herer 2ms3st [Option ID = 5440]

11) Which one of the following is a suspicion of outsiders combined with a tendency to evaluate the culture of others in

terms of one's own culture?

o=t ar@r Aftp UR 2ids Dol & ORI =il cufth T Uil Ta=i bl il @ TR TR TR ftb DI AT DI JcAidol Dl DI Ygfed siedt

3, w3

[Question ID = 1361][Question Description = S2_qSNz_PG_SCY_Q11]
1. Assimilation/sicsRica2vr Faisfiazor

[Option ID = 5441]
2. Racism/ygnfeaig

[Option ID = 5442]
3. Ethnocentrism/qnfer @ fooa

[Option ID = 5443]
4. Ethnography/grsuferene

[Option ID = 5444]

12) Who emphasized the significance of the dialectical model in studying rural society?

P30l SEfivT TSt D 3R d SSIeAD YIBU UR dc féar ?

[Question ID = 1362][Question Description = S2_qSNz_PG_SCY_Q12]
1. A. B. Mukherji/e. .yt

[Option ID = 5445]
2. Ramkrishna Mukherjee /3mayor gasit

[Option ID = 5446]
3. Sudipta Mukherjee/Jcia gReasit

[Option ID = 5447]
4. P. N. Mukherji/dt.wer. gRasit

[Option ID = 5448]

13) Which village was studied by Andre Beteille in his work on 'Caste, Class and Power'?

‘srifer, aef iz o1ftp’ 3 3o, A 3rual BRI '®Re, ddRT Uus urar’ 3 fépa sifa oI 3reRIor fdpar ?

[Question ID = 1363][Question Description = S2_qSNz_PG_SCY_Q13]
1. Sripuram/gfigea

[Option ID = 5449]
2. Rampura/3m@ga

[Option ID = 5450]
3. Mohana/ditaren



[Option ID = 5451]
4. Kumbapettai/qramies

[Option ID = 5452]

14) Wangala village in Mysore was studied by which scholar?
JI3Pz D qidTIen slid I 31ERIol fop 3redean grI fope ?

[Question ID = 1364][Question Description = S2_qSNz_PG_SCY_Q14]
. A. C. Mayer/uzfl. =R [Option ID = 5453]

. M. Opler/ua. sifeerz [Option ID = 5454]

. T.S. Epstein/dtuar swidiar [Option ID = 5455]

. H. S. Dhillon/wa.e3. feeeli [Option ID = 5456]

A W N -

15) Who said, "empty land sitting useless -if homeless people can live there", what is wrong?

"3PR rchl Sflel Uz dER clieT 3B & dl A3 a=II arcld 3?7 a6 fabor st 3 ?

[Question ID = 1365][Question Description = S2_qSNz_PG_SCY_Q15]
1. J. E. Perlman/3t3. uchiior

[Option ID = 5457]
2. R. Neurwirth/sr. sgael

[Option ID = 5458]
3. V. Dupont/dl. gua

[Option ID = 5459]
4. Ratna N. Rao/3cor wel. 3@

[Option ID = 5460]

16) A megacity is one whose population is

I3 9182 3A bad & RPrRIdb! smardt akdt 3 ?

[Question ID = 1366][Question Description = S2_qSNz_PG_SCY_Q16]
1. 15 million or more/15 fiférIot a1 33 3iferd

[Option ID = 5461]
2. 10 million or more/ 10 fiférrer =1 32 sifers

[Option ID = 5462]
3. 5 million or more/5 faferror ar 3313 siferd

[Option ID = 5463]
4. 1 million or more/1 fBifcrrer = 331 3iférd

[Option ID = 5464]

17) The impact of industry on religion, according to Elton Mayo, is transformation from

S

Qecol R D IMGIAR 3elel @l edf R g __ A BUiaRYI 3

[Question ID = 1367][Question Description = S2_qSNz_PG_SCY_Q17]
1. Areligious to non-religious society/vw® enfdfm 3 si2-enfdfd st 6t 3l

[Option ID = 5465]
2. An establishment of normative to open society/aerbRI 3 b TSt DI Fermuotr D 3i2

[Option ID = 5466]
3. Arritualistic to secular society/mdmmwster 3 et forer st 6t 3z

[Option ID = 5467]
4. An established to an adaptive society/v® Fenfuea 3 srojdeit 9IsT DI 3l

[Option ID = 5468]

18) Among the earlier industrial sociologists, who has written the book, Social Framework of an Indian Factory?

grRite siienRe FasonRqril # A fpel "Hlord Baad it Vol sf3ue Badl” siee grae ol férar 3 ?

[Question ID = 1368][Question Description = S2_qSNz_PG_SCY_Q18]
1. E. A. Ramaswamy/s$. . Jraraed

[Option ID = 5469]
2. G.S. Ghurye/sft. var. g%

[Option ID = 5470]



3. N. R. Sheth/wst 3=. d&

[Option ID = 5471]
4. Sharat K. Bhaumik/ora . siifdrm

[Option ID = 5472]

19) According to new ideas in the industry:

3eneT 3 oIdiol ARl @ 3RIR HAleld BRI Bl G=IT HAToll SIdI 3 ?

[Question ID = 1369][Question Description = S2_qSNz_PG_SCY_Q19]
1. human work is no longer considered as a pure economic activity/qul @s anfdfe aiferfafer & u i oist

[Option ID = 5473]
2. Worker is not supposed to work only for the sake of wages/glfdi @dact deet @ fere BrRf of B

[Option ID = 5474]
3. Both (1) and (2)/(1) 3iz (2) gl

[Option ID = 5475]
4. None of the above /3w 3 3 B ot

[Option ID = 5476]

20) Who has written the book 'Urbanization and Family Change' in the Indian context?

"srefotrsoI9ret Us Bidchl <st” oI grad sl csi ol fordl 3 ?

[Question ID = 1370][Question Description = S2_qSNz_PG_SCY_Q20]
1. S .C. Dube/ua 2ft g

[Option ID = 5477]
2. Irawati Karve/s3raclt o

[Option ID = 5478]
3. M. S. Gore/ua. v a3

[Option ID = 5479]
4. A. M. Shah/v. va. omB

[Option ID = 5480]

21) Who is the author of the book 'Human Ecology'?
"gIJIol sPIciSl SlID YFdd @ cRAD Bidl 3 ?

[Question ID = 1371][Question Description = S2_qSNz_PG_SCY_Q21]
1. R. Park/3m urw

[Option ID = 5481]
2. A. Hawley/u. fer

[Option ID = 5482]
3. E. Burgess/$. wota

[Option ID = 5483]
4. G. Simmel/sh, 3fider

[Option ID = 5484]

22) The title of the Brundtland Report is
gscis faré or ofite a=m & ?

[Question ID = 1372][Question Description = S2_qSNz_PG_SCY_Q22]
1. 'Environment-friendly Resource Consumption'/'searréic ©seil- iRl weuset

[Option ID = 5485]
2. 'Our Common Future'/'saz @fetel R

[Option ID = 5486]
3. 'Caring for Earth'/'daf3sr wiz aref

[Option ID = 5487]
4. 'Caring and Sharing'/'@f¥sI Gs JRIfSsT

[Option ID = 5488]

23) Which one of the following environmentalists got the Nobel Prize for Peace in 2004 for contribution to Sustainable
Development, Democracy and Peace?



forarferRaa & A v wRiiaRvIfag @) Jad R, didpddq 3R onifer @ &l 3 AIeret 3g ad 2004 3 orifer T sllde YR &ar sri ?

[Question ID = 1373][Question Description = S2_qSNz_PG_SCY_Q23]
1. Sundarlal Bahuguna/3jezcirer agapom

[Option ID = 5489]
2. M. C. Mehta/wva1. 3ft. dizer

[Option ID = 5490]
3. Wangari Mathai/aisr$t #ens

[Option ID = 5491]
4. Anil Agarwal/siforet 3@yaret

[Option ID = 5492]

24) Depletion of the ozone layer in the stratosphere is responsible for:
A ST A 3ieilel U B gfiorar sazerit 2 -

[Question ID = 1374][Question Description = S2_qSNz_PG_SCY_Q24]
1. Increase in Carbon dioxide/®dorsrisiianss &I agiast

[Option ID = 5493]
2. Skin cancer/caar ®m

[Option ID = 5494]
3. Cholera/3sm

[Option ID = 5495]
4. Increase in Sulphur dioxide/3cw? - SRBIARIES ¥ dGIA3L

[Option ID = 5496]

25) If nephews and nieces are brought up in their maternal uncle's family, the arrangement is referred to as

i SIiSIT - 91ishl @I UTcTol - UIYUT AT & Ul¥aR & 3Idr 3 a9 A RIaFel d) dad & -

[Question ID = 1375][Question Description = S2_qSNz_PG_SCY_Q25]
1. Avunculocal residence/#irget - Fermfias 3mart

[Option ID = 5497]
2. Neolocal residence/sra - Jermefies mart

[Option ID = 5498]
3. Matrilocal residence/anq - Fermsftes smarRt

[Option ID = 5499]
4. Patrilocal residence/fiq Zenford 3marRt

[Option ID = 5500]

26) Levi-Strauss interpreted the sign systems of 'Primitive Culture’' examining everything from the

ordl - ¢t o ‘snfedr Jvapfer’ @ ida yunfer @1 gferaifea fisen Sreacht 2meft ardl & sifa @D IMER U= DI 31F :

[Question ID = 1376][Question Description = S2_qSNz_PG_SCY_Q26]
1. Kinship structure/scieRt seaoen

[Option ID = 5501]
2. Caste structure/sufer Jizcon

[Option ID = 5502]
3. Class structure/asf Jixdon

[Option ID = 5503]
4. Racial system/ygiriter gomeft

[Option ID = 5504]

27) An idea associated with Marshall McLuhan, who saw the spread of electronic communication as binding the world into a
coherent single community called

3 f9RIR Dl a=I1 D8l SIIeT 8 fSRIDT AdeT Aeict Aadsol A 3, fiosiol fagld AR @I 3if fPa I JRdIA wabel AIGRI 3 SiiSol dIcl D WU I ST -

[Question ID = 1377][Question Description = S2_qSNz_PG_SCY_Q27]
1. Global Village/df%awm sifa

[Option ID = 5505]
2. Global network/dfas sfecam



[Option ID = 5506]
3. Global sites/dfaa Ferror

[Option ID = 5507]
4. Global city/dfa® e

[Option ID = 5508]

28) Who has devised a theory of social conflict on understanding the central characteristics of the "nomadic" and
"sedentary"” societies of his time?

e dad & Rigia o1 yiiarce iUl IR D 'Mieldaion iR 'sRflel’ Jarsll bt DRI fadiadrsii ol Jersel @ fere fdbetor fpen?

[Question ID = 1378][Question Description = S2_qSNz_PG_SCY_Q28]
1. Harriet Martineau/3fsac sféory,

[Option ID = 5509]
2. Karl Marx /et aimart

[Option ID = 5510]
3. Randall Collins/3srer affersar

[Option ID = 5511]
4. Ibn Khaldun/sser arcget

[Option ID = 5512]

29) Who has first proposed "Semiology” as a scientific study of signs in society?
fdpa0r I1d gerr 'c1givr - fasier’ @1 "Hurst d ADA D ASIfoId 3IERIG D WU 3 grdaifada fdpan?

[Question ID = 1379][Question Description = S2_qSNz_PG_SCY_Q29]
1. Roland Barthes/Jeies arefzr [Option ID = 5513]

2. Ferdinand de Saussure/wsiots st 3t [Option ID = 5514]

3. Claude Levi-Strauss/erdt 3¢far [Option ID = 5515]

4. Stuart Hall/zgarc gfet [Option ID = 5516]

30) Who is the author of "Myth and Meaning"?
'f3ter Us JifoisT & craw® Biot 3 ?

[Question ID = 1380][Question Description = S2_qSNz_PG_SCY_Q30]
1. B. Malinowski/dt. difereitzbt

[Option ID = 5517]
2. Claude Levi-Strauss/acls cxdt - g1

[Option ID = 5518]
3. S. F. Nadal/w2t vw. siset

[Option ID = 5519]
4. A. R. Radcliffe-Brown/u. 3iR. Isfdreiw-gi3ot

[Option ID = 5520]

31) The Munda and the Oraon of the Chotta Nagpur who live close to each other and share much of their cultural life,
belong to which speech group, respectively?

BICCIPIYR D #3I 3R 3IRId Sil TP - GIR D forde art @ 3 3iiR Sl 316l ARFDIID Sidet oI AN @ 3, waferlRaa 3 A fpa s - sl
MWEAMMAS?

[Question ID = 1381][Question Description = S2_qSNz_PG_SCY_Q31]
1. Austric and Dravidian speech group/siiR¢a® 3iiz gfdor st - sl 2Hes

[Option ID = 5521]
2. Negrito and Nordic speech group/sfisfiel siiz iifS® o - sl e

[Option ID = 5522]
3. Mongoloid and Mediterranean speech group/asiiferR iz 9jg1er APRRT 91N - oTelt S

[Option ID = 5523]
4. Western Brachycephals and Mongoloids speech group/dzcof grcfiRiwe=1 siiz Fionferror o - sl s

[Option ID = 5524]

32) The concept of Habitus as a basis for a cultural approach to structural inequality with a focus on the embodiment of
cultural representation in human habits and routines was originally used by:

IHFICICHD SRAATGIAT el ARDITD IuPHI @ MR D FU A BART DI IR DI RR1 AT oI el Gorrit i Airapiae forsuur @
Ydcilavr uz del S Sirer 3, et WU A ool yilel fdpan o -



[Question ID = 1382][Question Description = S2_qSNz_PG_SCY_Q32]
1. Pierre Bourdieu/ftrR dffS3

[Option ID = 5525]
2. Norbert Elias/site sfermr

[Option ID = 5526]
3. Anthony Giddens/gellsft Brset

[Option ID = 5527]
4. Richard Jenkin/f¥as Steifeser

[Option ID = 5528]

33) Who is the author of "Private Lives and Public Surveillance"?

"grsdc crseA Us ufece Afdeiz’ @ cradw dio 3 ?

[Question ID = 1383][Question Description = S2_qSNz_PG_SCY_Q33]
1. David Lyon/3fas feriier

[Option ID = 5529]
2. Shoshana Zuboff/olierom eie

[Option ID = 5530]
3. Gary T. Marx/313 ¢t. sma=f

[Option ID = 5531]
4. James Rule/3Swa a1

[Option ID = 5532]

34) Who gave the concept of plastic sexuality?

‘tenfRed Aaeferdl’ sraemon fRperor &t off ?

[Question ID = 1384][Question Description = S2_qSNz_PG_SCY_Q34]
1. Ulrich Beck/3ecfsa a@

[Option ID = 5533]
2. Zygmunt Bauman/fpric asdler

[Option ID = 5534]
3. Anthony Giddens/gellsft Brsa1

[Option ID = 5535]
4. David Matthew/3fds ey,

[Option ID = 5536]

35) Count Joseph Arthur de Gobineau is well known for his work on which of the following?

D3¢ SRIP el 3 aifSSis forvafeiRaa 3 A fvar faw=r uz fbu s1v ol oRf @& fore ylng 3 ?

[Question ID = 1385][Question Description = S2_qSNz_PG_SCY_Q35]
1. Ethnicity/omidRer

[Option ID = 5537]
2. Racism/crerarg

[Option ID = 5538]
3. Migration/yaztet

[Option ID = 5539]
4. Gender/fir (Sis3)

[Option ID = 5540]

36) Who among the following traced the evolution of citizenship in three key stages of Civil rights, Political rights and Social
rights?

forgatferiRaa 3 A vl sIPIR® 3IferRI, Aswelifde IRIPRI il ATHIRID URDRI DI JIRI il TRVIT 3 oIEIda D Iga ol usel oI 2fi?

[Question ID = 1386][Question Description = S2_qSNz_PG_SCY_Q36]
1. T. H. Marshall/&. va. amofer

[Option ID = 5541]
2. Gordon Marshall/sitgar smofer



[Option ID = 5542]
3. R. J. Marshall/am. 31 #efer

[Option ID = 5543]
4. Martin Marshall/nf&r smofer

[Option ID = 5544]

37) Who among the following has divided globalization into two camps, the optimists and the pessimists?
forsaiferRaa 3 21 foperar dedias=ut @I smemard) 3R forTemarct ot 29l 3 ferp e 8 ?

[Question ID = 1387][Question Description = S2_qSNz_PG_SCY_Q37]
1. Anthony Giddens/ueilsft BrgSoar

[Option ID = 5545]
2. Mike O' Donnell/#ms 3’ Stolet

[Option ID = 5546]
3. Immanuel Wallerstein/sdigpsrer arerecior

[Option ID = 5547]
4. George Ritzer/sifst Beore

[Option ID = 5548]

38) In which one of the following approaches, sexual division of labour was taken for granted and as natural?

forgaiferRaa 3 21 fop1 SuPEr # 91 @ feier smenfya fepnsior oI Fannfie A6 sk ?

[Question ID = 1388][Question Description = S2_qSNz_PG_SCY_Q38]
1. Women in Development (WID)/fdeprt 3t siféeme (Secey 3 St)

[Option ID = 5549]
2. Women and Development (WAD)/#faeme siiz fdort (sscepe. t)

[Option ID = 5550]
3. Gender and Development (GAD)/feisr (Sis2) sl famrr (Jus? v. &t

[Option ID = 5551]
4. Postmodernism and Development (PAD)/3aR - sugformdrmars 3k fdort (di. w. st)

[Option ID = 5552]

39) Which one of the following is NOT a harbinger of cultural change?
forgatferiRaa d A ®lel - AT ARDITD goerd BT 3P)ed oIdl & 7

[Question ID = 1389][Question Description = S2_qSNz_PG_SCY_Q39]
1. Contact with other cultures/ s JzapfcrRll @ Mmer Ius

[Option ID = 5553]
2. Revolution/aifer

[Option ID = 5554]
3. Spread of cultural traits/zmferd cIamr o1 GRAR

[Option ID = 5555]
4. Cultural conditioning/Jixmfeid 3iofdciol

[Option ID = 5556]

40) According to R. Wallis, the three broad categories: World-affirming, World-rejecting and World-accomodating
movements are associated with which of the following?

3IIR. IfeR:T @ IGRIR dlel caru® VR faea - <diapa s1icicrol, fad - sR<lad sficicrol 3iR fa%a - AATATIA 3ticicrol forotfciiRad 3 A o &
AT AIEG 3 ?

[Question ID = 1390][Question Description = S2_qSNz_PG_SCY_Q40]
1. A value-oriented movement/acilosja sricictor

[Option ID = 5557]
2. New religious movements/srq enfdfes sticictor

[Option ID = 5558]
3. New social movements/ora ABNRIE 3ficictor

[Option ID = 5559]
4. New age movements/sld gsflor sficictol

[Option ID = 5560]



41) Power commands:

A. Obedience

B. Popularization

C. Submission

Choose the most appropriate answer from the options given below:
orfep fopa1 U= ggyra et 3 :

A. sisiroifyar

B. gfiafgmaur

C. siefiorar - it

il feu sru faredl 3 A A8 IR DI WRIel B :

[Question ID = 1391][Question Description = S2_qSNz_PG_SCY_Q41]
1. Conly/@aa C

[Option ID = 5561]
2. Aand C only/daer A siiz C

[Option ID = 5562]
3. A,Band C/A, B3z C

[Option ID = 5563]
4. B only/@ddc B

[Option ID = 5564]

42) Robin Cohen argued for which of the following categories of diaspora?
A. Victim

B. Imperial

C. Labour

D. Culture

E. Community

Choose the correct answer from the options given below:

3ifereT DI3al of SRRIURI I forafeiRaa fipar YOI bI amrera of ofi?

A. difda

B. ampfsas

C. gt

D. sizfir

E. Jgcra

il fou o1 fraseul 3 3 I IR BT w6l HISIE ©

[Question ID = 1392][Question Description = S2_qSNz_PG_SCY_Q42]
1. B, E, A, Conly

[Option ID = 5565]
2. C,D, E, Bonly

[Option ID = 5566]
3. A, B, Cand D only

[Option ID = 5567]
4. E, C, B, Aonly

[Option ID = 5568]

43) According to lvan lllich, schools have developed which of the following four basic functions?
A. Provision of custodial care

B. Distribution of people within occupational rules

C. Learning of dominant values

D. Promote equality or the development of individual creativity

E. Acquisition of society approved skills and knowledge

Choose the correct answer from the options given below:



sardl sfera @ sioRIR, fEneril of foofeRaa ar 3 yor! fawlRea fee 3 @
A. sifinradia ufscrRit o1 yrasns

B. gftre 91f3re1sil @ dasd ciisll @l frervr

C. gira gl @1 e

D. JarcIdar @) dgiar 3k dJAaftbad Askelcaradr o1 fabrT

E. amenfSie wu 3 ¥diama sl 3iiR Sil6l @I skl

il feu aru el 3 2 A8 IR D1 WRIel B :

[Question ID = 1393][Question Description = S2_qSNz_PG_SCY_Q43]

B, C, D and E only/daet B, C, D, E [Option ID = 5569]
A, B, C and D only/aaa A, B, C, D [Option ID = 5570]
. D, C, Band A only/aaet D, C, B, A [Option ID = 5571]
A, B, C and E only/@aet A, B, C, E [Option ID = 5572]

A w N -

44) According to Manuel Castells, Informational Revolution is:
A. A new social order
B. A network society
C. Legitimation crisis

Choose the correct answer from the options given below:

JoJ3IcT DICA D AR, IYcloll Adel Gpifer 3 ¢

A. o i AP craren

B. uw olcad S

C. aeficpur @I Jdbe

oifd fu sru firapeul 3 A Al IR DI TR DIfSTU :

[Question ID = 1394][Question Description = S2_qSNz_PG_SCY_Q44]

A and B only/dact A siiz B [Option ID = 5573]
C only/a@aet C [Option ID = 5574]

B and C only/@aet B siiz C [Option ID = 5575]
A and C only/dact A siiz C [Option ID = 5576]

AW N =

45) Who said that monogamous marriage developed not to unite men and women in marital bliss, but to protect private
property?

A. Friedrich Engels

B. Karl Marx

C. Schulasmith Firestone

Choose the correct answer from the options given below:

I fepAol a1 I b et fdars yigyia, gl sk Afcnsii ol daifdd derel # ditrel @ feru ol afew forsil Fufr oI 2811 ol @ fére gaim o ?

A. gshramuforea

B. orct ara=d

C. genf¥arer BRR¥CIo

ofi o s1u fweul & A A8} IR @I wRI6 HifSrT :

[Question ID = 1395][Question Description = S2_qSNz_PG_SCY_Q45]
1. Aonly/@ae A

[Option ID = 5577]
2. Bonly/dae B

[Option ID = 5578]
3. Conly/aqer C

[Option ID = 5579]
4. A,Band C/A,Baiz C

[Option ID = 5580]

46) Which of the three primary models of ethnic integration are adopted by multi-ethnic societies?



A. Acculturation

B. Assimilation

C. Salad-bow! model

D. Melting pot

E. Cultural pluralism

Choose the correct answer from the options given below:
§g - SfSIIcAIRI AATST ol FSIIARI TblduT B Diot A «ilol Yrerfdre yferareil ol sruoirRn 3 ?
A. Uz - FrpfeEEUl (TdcaR9reT)

B. sircaricas2or (vlifdreroret)

C. eI - WA YReY (ACTIS - a3t dfscr)

D. afwn (Afdcat dic)

E. sivapfire agorarg

il f3u s1e fraseul 3 3 I IR BT TRIoT HIRIE :

[Question ID = 1396][Question Description = S2_qSNz_PG_SCY_Q46]
1. B, Cand D only/@aa B, C, D

[Option ID = 5581]
2. A, Cand D only/aae A, C, D

[Option ID = 5582]
3. A,DandEonly/@act A, D, E

[Option ID = 5583]
4. B, D and E only/@aet B, D, E

[Option ID = 5584]

47) According to P.M. Kolenda, which family types were not discussed for a comparative evaluation?
A. Single person household

B. Sub-nuclear family

C. Juvenile family

D. Supplemented sub-nuclear family

E. Singular family

Choose the correct answer from the options given below:

dl. GzI. DIciesT @ eRAR delollcdAd Jcdidvel @ fe1e uiar @ fpol YRl & <t ofél &l o1 8 ?

A. uw cafip ufsar (Risra uier RIcs)

B. 3u - uwrbl ulRar (39 - FaciRR Bilre)

C. fvoiz ufyar (gdomse Bidrcft)

D. sIgze 3u - vl uf¥ar (9 - yaciiRR bidieil)
E. gwa ufar

ofi o s1u fmeul & A A8} 3R @I wRI6T HifsTT :

[Question ID = 1397][Question Description = S2_qSNz_PG_SCY_Q47]
1. Cand E only/a@qer C 3iiz E

[Option ID = 5585]
2. Aand B only/dact A iz B

[Option ID = 5586]
3. B and D only/dact B 3iiz D

[Option ID = 5587]
4. Aand D only/@aet A siiz D

[Option ID = 5588]

48) Which of the following scholar(s) has not emphasized the term ‘Underclass'?

A. J. Goldthorpe



B. M. Savage
C. C. Murray
Choose the most appropriate answer from the options given below:

fracifeiRBaa & A foa / Rt figrot / RIgKe of sielas! (3is2 aca) 9reg Uz dct oidl far 3 ?

A. 3. slicsu

B. w3 Ja=t

C.2f 3

ofl fou a1e famctl 3 A A8 3R @1 wRIoT HIfIE :

[Question ID = 1398][Question Description = S2_qSNz_PG_SCY_Q48]
1. Aonly/dae A

[Option ID = 5589]
2. Bonly/daca B

[Option ID = 5590]
3. Aand B only/dact A siic B

[Option ID = 5591]
4. Conly/aae C

[Option ID = 5592]

49) Which two of the following major greenhouse gases contribute to global warming?
A. Nitrous oxide

B. Carbon dioxide

C. Methane

D. Chlorofluorocarbons

Choose the correct answer from the options given below:

forgoiferRaa 3 31 dlat - 2l 3 311 dffad arueret 3 gf.g (scilae aifdfer) @ fere IacrRil 8 ?

A. onsg sifaRrss

B. wrdor 1 sifazrss

C. fda

D. aciRIuciRl wIdol

ofi o s1u fwedl & A A8 3R @I wRI6 Hifsre :

[Question ID = 1399][Question Description = S2_qSNz_PG_SCY_Q49]
1. Aand D/@aet Asiec D

[Option ID = 5593]
2. Aand C/daer A i C

[Option ID = 5594]
3. B and D/dqet B 3iiz D

[Option ID = 5595]
4. Band C/daa B aiz C

[Option ID = 5596]

50) Michel Foucault has used which of the following concepts?
A. Governmentality and Bio-politics

B. Bio-politics and Lifeworld

C. Sovereignty and Discipline

D. Archeology of Discourse and Solidarity

Choose the correct answer from the options given below:

rsd Bepl o forgotferRaa 3 21 fopot sraermrumsil ot IurieT e 3 ?

A. omrofiRiar 31z Siq - siofifer (sNaofdicferdt ds arl - diferfeazt)
B. 3ia - Iswofifer 3R Sildel AAR (ARN diferfeast U3 aEe acs)



C. 3igagan 32 sigfemal (aradfoc iz Rfiftcror)
D. grraifeass fe@rel siiz woreararar (srrbedishl sife 3Rt s Alfersi¥é
il ou a1e frasedl & A A8 32 @I Il HiIfSIg :

[Question ID = 1400][Question Description = S2_qSNz_PG_SCY_Q50]
1. Aand C only/@act A siiz C

[Option ID = 5597]
2. Aand B only/@act A sik B

[Option ID = 5598]
3. Band C only/daet B sfiz C

[Option ID = 5599]
4. Aand D only/@dct A 3sik D

[Option ID = 5600]

51) Which two of the following are the cleanest cities of India, as per the Government of India Survey of 2020?
A. Chandigarh

B. Indore

C. Navi Mumbai

D. Surat

Choose the correct answer from the options given below:

HRA IRPR D ad 2020 & Jdgrvr @ IR forafiRad 3 A dlol - A A 9B A4ifers Fao 9B & ?
A. sk

B. sociz

C. ordl ggas

D. 3za

il feu sru farsedl 3 A A8 IR D1 WRIel B :

[Question ID = 1401][Question Description = S2_qSNz_PG_SCY_Q51]

. B and D only/dae B siiz D [Option ID = 5601]
. Aand C only/a@aet A aliz C [Option ID = 5602]
. A and D only/d5aer A siiz D [Option ID = 5603]
. B and C only/dae B siiz C [Option ID = 5604]

A w N =

52) Which of the following are the four institutional imperatives, according to Robert K. Merton?
A. Universalism

B. Particularism

C. Communism

D. Disinterestedness

E. Organized scepticism

Choose the correct answer from the options given below:

A D Aol D 3IURIR forgaiferRaa 3 3 dlal ar Areea Isgfi 3 ?
A. arhiisare (gforasifersa)

B. fafdrscorumare (urféagetsa)

C. e (wwifsH)

D. smiftisfr (f3seaesora)

E. Je1fda Jiormars (3melonsss ydfteR3rsa)

il fou o1 fraseul 3 3 I IR BT w6l HIdIE

[Question ID = 1402][Question Description = S2_qSNz_PG_SCY_Q52]
1. A, B, Cand Donly/@ac A, B, C, D

[Option ID = 5605]
2. B,C,DandEonly/@aa B, C, D, E

[Option ID = 5606]
3. A,C,Dand Eonly/aaa A, C, D, E

[Option ID = 5607]



4. A, B,DandEonly/aaet A, B, D, E

[Option ID = 5608]

53) According to Pippa Norris, the concept of the digital divide encompasses which three of the following distinct aspects?

A. Global divide

B. Local divide

C. Social divide

D. Democratic divide
E. Economic divide

Choose the correct answer from the options given below:

diur slif¥a @ SRR, 3idi fansel (Rfsied Barss) # dior @l A fieol usg 3 ©

A. 3t fsister (scilaa Rarss)

B. zerrfier Risirter (cliwer f¥arss)

C. anfr fensior (Merd Rarss)

D. cliwaifye Rk (SMBRTRarss)

E. snf¥fes fenrmster (sofelifdin fFarss)

it fou o1 frpeul 3 2 & IR BT T=I6T HIfSE ¢

[Question ID = 1403][Question Description = S2_qSNz_PG_SCY_Q53]
1. A, Band C/aaa A, B, C

[Option ID = 5609]
2. C, D and E/dae C, D, E

[Option ID = 5610]
3. A, Cand D/dae A, C, D

[Option ID = 5611]
4. B, Dand E/daa B, D, E

[Option ID = 5612]

54) Which of the following are included in structuralist semiotics?

A. Seeks to look behind or beneath the surface of the text to discover its underlying organization
B. It explores the connotative meanings of the signs as realized in the codes and conventions

C. It is primarily concerned with textual organization

Choose the correct answer from the options given below:

Hcelicdi Fddfdsiior (Fgaara Afsiifeasn) i fserar Framaer dlar 3 ?

A. ure @ Uis A1 ofi<l $3dI & Alfep fo1fdd o161 I udl cRIRI ST AD

B. zifdar aar ufeurdl 3 e srepya Ayl ®I udr ceIdr 3

C. 331 A PIRIA: UIGISIA dI6al A 3

il fou s1u frpeul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 1404][Question Description = S2_qSNz_PG_SCY_Q54]

. Aonly/@ae A [Option ID = 5613]

. B only/daet B [Option ID = 5614]

. A and B only/daet A siiz B [Option ID = 5615]
. A, Band C/A, B sz C [Option ID = 5616]

A W N -

55) A Hindu marriage ceremony consists of a series of ritual performances, which are:
A. Kanyadan

B. Prajapatya

C. Vivaha-havan

D. Pani-grahan

E. Sapta-padi



Choose the correct answer from the options given below:
Rog fars iR 3 Rl sigreoreil & gjzaet axcdt & ?

A. @oacre

B. ysmuca

C. fars sdot

D. urfor - sgor

E. waud)

il f3u a1 fraseul 3 A W) IR BT WA HIdIE :

[Question ID = 1405][Question Description = S2_qSNz_PG_SCY_Q55]
1. A, B, Cand D only/dact A, B, C, D

[Option ID = 5617]
2. A, C,DandE only/adaa A, C, D, E

[Option ID = 5618]
3. B,C,DandE only/aact B, C, D, E

[Option ID = 5619]
4. A,B,C,Dand E/A, B, C, D, E

[Option ID = 5620]
56) In which type of reading, the Reader accepts the dominant codes and conventions but may question their use in terms
of his/her own experience?

A. Dominant reading
B. A negotiated reading
C. An oppositional reading

Choose the correct answer from the options given below:

ared YgRa oI 3R ufurfedl &t TR w2l 3 uRoq ds 31Uol IRl & 3ed @ LR UR IJoId YRIIST & Ader 3 Yool B2 Addl & Adfera user
&l ugare HifSrg ?

A. gardl user

B. amafemu (aenfRefRs) usst

C. RRIe PRI usel

il fou s1e frpeul 9 A I IR DI w6l HIfSIE ¢

[Question ID = 1406][Question Description = S2_qSNz_PG_SCY_Q56]
1. Conly/aae C

[Option ID = 5621]
2. Bonly/dact B

[Option ID = 5622]
3. Aonly/dae A

[Option ID = 5623]
4. A, Band C/aac A, B, C

[Option ID = 5624]

57) Of the following, who has not worked on the functioning of the Jajmani system as a binding force among castes?
A. W. H. Wiser

B. K. Ishwaran

C. M. Opler

D. K. Gough

E. S. C. Dube

Choose the correct answer from the options given below:

forgaiferRaa 3 21 ool Suferll & dia decIPRI a1 @ P4 3 SISl RaFedl @ YdRIBUT R BRI o181 e 3 ?



A. Soc3 wa. AR

B. @. $2avat

C. w3 3ucR

D. &. siite

E. war. 3l @

il f3u s1e fraseul 3 A W IR BT Il BRI ©

[Question ID = 1407][Question Description = S2_qSNz_PG_SCY_Q57]
1. Aand C only/@det A 3 C

[Option ID = 5625]
2. Conly/aqer C

[Option ID = 5626]
3. Donly/@aa D

[Option ID = 5627]
4. E only/dac E

[Option ID = 5628]

58) Of the following, what are the causes of the weakening of the Nation-State?
A. Rise of post-national membership

B. Increasing significance of transnational corporations

C. Decrease of political interest in the rights of 'first nations’

D. The growing strength of supranational institutions

E. Smooth process of governance

Choose the correct answer from the options given below:

foraiferRaa 3 A Pl - A AT DI BIHSIR Dol dlcl PRD & ?

A. ISR AGHIAT DI IeATT

B. sia=iccl foremil @1 agar dsta

C. 'gera sl (B o19ik1) @ SifErpRI 3 Fedl Iskiiicrd ifdrsir
D. 'Fgu= - slererer’ Az ansii &I dgddl oIftp

E. orriet b1 ot yfaRn

il fou s1u fyepeul 3 A W IR BT w6l HIfSIE ©

[Question ID = 1408][Question Description = S2_qSNz_PG_SCY_Q58]
1. A, Cand D only/dae A, C 3iiz D

[Option ID = 5629]
2. B, D and E only/dqer B, D aie E

[Option ID = 5630]
3. A, Band D only/dde A, B stk D

[Option ID = 5631]
4. C,Dand Eonly/@aa C, D siR E

[Option ID = 5632]

59) Clifford Geertz's framework of Symbolic Anthropology accepts which of the following?

A. Conception of culture in the non-semiotic form

B. Prime attention to the role of symbols in constructing the public meaning

C. Analysis of culture is on an experimental basis

D. Symbolic forms by which men communicate, perpetuate and develop their knowledge about and attitudes towards life
E. Role of anthropologists to interpret the guiding symbols of each culture

Choose the correct answer from the options given below:

forrarferRaa & A, ydiorae gfdsiet @ frawlsS sfics oI BATD FADR B3I 3 &
A. 317 - AiBfIP wa A Avapfe bl Awcuon



B. St sif$igrr foifdfa ot A yedlml &I 411 Uz ygza =61

C. J¥ple oI fecaur grRIBIE e u? oo sirar 3

D. ADfa® Yeu Kiord> s A Ao Slidel & AR i U6l SWI6T 3R 3HD Yfel 31ueil A6igi oD, DRI iR faoRia o 3
E. g Fzmia @ forgers yedle! &l s w2or 3 gfersforil &bt sifdrer

off<r fou a1 ferapeul 31 A A8 IR @I I DT :

[Question ID = 1409][Question Description = S2_qSNz_PG_SCY_Q59]
1. A, Band C only/d@aa A, B siiz C

[Option ID = 5633]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 5634]
3. B, D and E only/a@ae B, D siiz E

[Option ID = 5635]
4. C,Dand E only/@aa C, D siz E

[Option ID = 5636]

60) Which two of the following concepts are related with R. Robertson?
A. Differences-within-Sameness

B. Flow of gatherings and Squeezing

C. McDonaldization and Ethnicization

D. Homogeneity vs. Heterogeneity

Choose the correct answer from the options given below:

forgatfciiRaa 3 A ot - Hl sraemRuNg 3R, dacHsr A Adfea & ?

A. twudal @ iR iR

B. STorRmIgl @I ydrs iR deiie Adqul (Fadifsion)
C. 3D SIoIcSIBR0T 3R FSIIicrduT

D. JsiredlRm@r iR fesidREar

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 1410][Question Description = S2_qSNz_PG_SCY_Q60]
1. Aand C only/ddct A iz C

[Option ID = 5637]
2. Aand B only/a@act A siic B

[Option ID = 5638]
3. Aand D only/daet A siiz D

[Option ID = 5639]
4. Band C only/adact B siic C

[Option ID = 5640]

61) Which of the following characteristics of the caste system were NOT emphasized by G. S. Ghurye?
A. Segmental division

B. Hierarchy

C. Open system

D. Achieved

E. Pollution and purity

Choose the correct answer from the options given below:

Sil. w1, gRt of sufer craven 6l foorferRaa 3 o fadraar uz sk ot = o ?
A. TSR fepirstor

B. e

C. gcft caazen

D. aifSfa



E. smafdeg wd ufdeg
ofia f3u a1u faaseul 3 A I8 IR D1 TR BRI ¢

[Question ID = 1411][Question Description = S2_qSNz_PG_SCY_Q61]
1. A and B only/d>aet A iz B

[Option ID = 5641]
2. BandE only/a@act B siiz E

[Option ID = 5642]
3. Cand D only/d@aer C 3iiz D

[Option ID = 5643]
4. Aand E only/@aer A sii E

[Option ID = 5644]

62) Which among the following are NOT the works of Irawati Karve?
A. Hindu society: An interpretation

B. Hierarchy and Marriage Alliance in South India

C. Religious Consciousness

D. Kinship Organization in India

E. Yuganta: The End of an Epoch

Choose the correct answer from the options given below:

forgotferiRae 3 A @lat - 21 sAacdl od b afer o186l & ?
A. fRog ARG : Vo1 ScalRorer

B. srRrrast ¢s ¥ seria sof Ak i3

C. Rfaforrt ®eilRRRIor

D. fepfdru sifsTerrssioret o si3=m

E. goriar : ¢ uus siie Yol wdfa

il fou s1u fRrapeul 3 A & IR BT a6l HISIE ¢

[Question ID = 1412][Question Description = S2_qSNz_PG_SCY_Q62]
1. Aand D only/ddet A 3iiz D

[Option ID = 5645]
2. Band C only/@act B siiz C

[Option ID = 5646]
3. Dand E only/@aet D iz E

[Option ID = 5647]
4. Aand C only/ddct A iz C

[Option ID = 5648]

63) Which of the following are true about the sociology of consumption?
A. Focus on material culture

B. Focus on mass culture

C. New approach to the analysis of equality and political power

D. Largely emerging from capitalist societies

E. New approach to the analysis of inequality and political alignments

Choose the correct answer from the options given below:

IUBIET @ AATSINRT D aR 3 forraiferRad 3 A Blar A A& T ?
A. 9iiftrep Avmpfer ur ga arar 3

B. Sfel - ¥i¥apfer U= et 3iar 3

C. Jarr6md1 3iR Il 9Iftp @ feaiaur 3q ol 3uPRI

D. siferepiore: ysitarél 3l # st 3ga alar 3

E. srereidl 3R Asmolfer sosiisl @ feauul 3g ol SuPRI
ofier fou a1 ferapeul 3 A A8 ITR BT wRIa1 HIfIT :



[Question ID = 1413][Question Description = S2_qSNz_PG_SCY_Q63]
1. A,B,CandDonly/@ac A, B, C, D

[Option ID = 5649]
2. B,C,DandEonly/®aa B, C, D, E

[Option ID = 5650]
3. A,C,Dand Eonly/aaa A, C, D, E

[Option ID = 5651]
4. A, B,DandEonly/aaet A, B, D, E

[Option ID = 5652]

64) Which of the following aspect(s) is/are NOT associated with the works of M. N. Srinivas?
A. Statistical-view of caste

B. Field-view of caste

C. Functional unity of caste

Choose the correct answer from the options given below:

forgsiferRae 31 3 Pblel - AT / Blel - A B, A Uol. iforart @ orIf A e o8l 3/ 3 ?

A. sufer o1 AilRsabRI eftemior

B. sufer oot &xcfir (fses) efReasior

C. sufer &t yorifcad vwar

il feu sru el 3 A A8 IR D1 WRIel B :

[Question ID = 1414][Question Description = S2_qSNz_PG_SCY_Q64]
1. Aonly/dae A

[Option ID = 5653]
2. Bonly/@act B

[Option ID = 5654]
3. Conly/@aa C

[Option ID = 5655]
4. Band C only/a@ac B siiz C

[Option ID = 5656]

65) A relationship between two quantitative or qualitative variables is considered significant according to the

x2 (Chi-square) test at which of the following levels of error?

A. 1%
B. 2%
C. 3%
D. 5%
E. 10%

Choose the correct answer from the options given below:

x?2 (o1 TaarR) UFSIvT @ R SY HAIICHD eI VAP R & dia @ Heer B fpor a2l uz Hgragul #rer sirar @ ?

A. 1% gfe
B. 2% gfe
C. 3% gfe
D. 5% gfe
E. 10% qgfe
oiiI feu are famedl 3 A A8l IR DI TRIel DI :

[Question ID = 1415][Question Description = S2_qSNz_PG_SCY_Q65]
1. A, B, Cand D only/@act A, B, C, D

[Option ID = 5657]
2. B,C,DandEonly/®aaB, C, D, E

[Option ID = 5658]
3. A,C,DandEonly/@ac A, C, D, E

[Option ID = 5659]



4. A, B,DandEonly/aaet A, B, D, E

[Option ID = 5660]

66) Match List | with List Il

List |

List Il

Thinkers

'Works

A. Radha Kamal Mukherji

|. Buddha and Karl Marx

B. G. S. Ghurye

C. B. R. Ambedkar

lll. The Land Problems of India

D. M. N. Srinivas

IV. Social Tensions in India

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1l
(i) (et )

A. I1em e Fasil |. g1 Us orel ara=d

B. Sfi. wat. & Il. facrst, @wRe, Sis? s dAuas
C. dl. 3=, 3EFaS®R Ill. 5 &' yiecar 3iiw $f¥=m
D. w3 val. gfiforart IV. Y9ret ¢9rat sol i3

il fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 1416][Question Description = S2_qSNz_PG_SCY_Q66]

1. A-ll,B-IV,C-I,D-1l

[Option ID = 5661]
2. A-1,B-1IV,C-1,D- 1l

[Option ID = 5662]
3. A-1,B-IV,C-1Il,D-Il

[Option ID = 5663]
4. A-IV,B-1I,C-1II,D-I

[Option ID = 5664]

67) Match List | with List Il

Ideas

Explanation

A. Analytic Hermeneutics

|I. Meaning determines reference and our
understanding of the being of entities

B. Hermeneutic Realism

Il. Methodology of Interpretation

C. Hermeneutic Idealism

lll. Combining analytic philosophy with
hermeneutics

D. Hermeneutics

IV. Nature in itself and Science provides
an explanation

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgaifera Hifste ¢

et - et -

(foremz) (cImeeT)

A. fpsyvcas |. 3ref Jrocst 1 forerizur ar & ae R 3ldea &
ormxqefiarian (vorfeifiea Eﬁaﬂ@ﬁﬂﬁ%eﬁaﬁﬁs{ﬁmtﬁrﬁ{&ﬂm
[cilogfean)

B. omeqrefsfisnien urm

—renefare (sdfofed Il. forcfaret @1 ugferomz<

f¥ufersar)

C. e e Ill. RredSaoncam gofsl @ omquefsfisiaa & Arer
siGolare (sdeufed o

sisfSafersa)

D. omqrefsfiarizm IV. gapfer Far=i 3 aen frsiiel IR Yglol @l &

ofiax 3w o1 el 3 A At W= gfom :

Il. Village, Caste, Gender and Method




[Question ID = 1417][Question Description = S2_qSNz_PG_SCY_Q67]
1. A-NI,B-1IV,C-1,D-1l

[Option ID = 5665]
2. A-1,B-1I,C-1IV,D-1ll

[Option ID = 5666]
3. A-1L,B-1,C-1V,D-Il

[Option ID = 5667]
4. A-IV,B-1l,C-1ll,D-1

[Option ID = 5668]

68) Match List | with List Il

List | List Il

Concepts Sociologists

A. Proletariat I. W. H. Wiser

B. Spirit of Capitalism Il. Emile Durkheim
C. Division of Labour 11l. Karl Marx

D. Exchange (Jajmani system) IV. Max Weber

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
(3raerum) (JTATSTONR})

A. Idarr |. Secg wa arseR
B. gsflarc <&l fermzemt Il. garder gaalsa
C. 931 1 fasirstor 1l. wret ezt
D. 31GIel - Yglol (STSiTell caa-eln) V. diga ds=

offc feu aru frpedl 3 A 3l 3R gfore :

[Question ID = 1418][Question Description = S2_qSNz_PG_SCY_Q68]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 5669]
2. A-1,B-1I,C-1V,D-I

[Option ID = 5670]
3. A-1LB-1V,C-11,D-I

[Option ID = 5671]
4. A-IV,B-1,C-1l,D-1l

[Option ID = 5672]

69) Match List | with List Il

List | List Il

Authors Books

A. J. W. de Wit I. Sociology of Slum

B. Vinit Mukhija  |[Il. Shadow Cities: A Billion Squatters, A New Urban World
C. Robert Neuwirthllll. Policy, Poverty and Politics in Madras Slums

D. M. S. Dhadave |[IV. Squatters as Developers? Slum Redevelopment in Mumbai
Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -1l
(ererp) (GeTD)

A. Sl secg s fae (| AMIRICTS sifw ot

B. ferolta aRasn 1. 9181 Ridlst : v Riferiel ¥ade:d, v o srdet acs
C. s oyferel Ill. diferzil, diaél us diferfeast sor aigr1 e

D. va. ga. emca IV, aded st Saciusd ? Fora RSacaudic sof gaas

offc feu aru frpedl 3 A 38 3R gfore :

[Question ID = 1419][Question Description = S2_qSNz_PG_SCY_Q69]
1. A-,B-1,C-Ill,D-1IV

[Option ID = 5673]
2. A-1ILB-IV,C-1I,D-1

[Option ID = 5674]
3. A-IV,B-II,C-1,D-1ll



[Option ID = 5675]
4. A-11,B-1I,C-1V,D-I

[Option ID = 5676]

70) Match List | with List Il

List | List Il
Authors Books
A. Ann Oakley I. The Future of Feminism

B. Erwing Goffman

Il. The Captured Womb: A History of the Medical Care of Pregnant Women

C. Richard Jenkins

lll. Forms of Talk

D. Sylvia Walby

IV. Social Identity

Choose the correct answer from the options given below:

It -1 ot gt -1 21 gifera difsre ¢

et -1 et -l

(craw) (grad)

A. 36l silael ||, © wER i Bidiforsa

B. sfefer Il. ¢ Puas gud : © B33 3if ¢ AfdPa B3R i Yoloie
SifwBaTeT e

C. s Steifdpr |lll. wE=t sifw S

D‘c Bifearen IV. serer sms3RE

il fou a1 fyseul 3 3 A8 IR gfom ©
[Question ID = 1420][Question Description = S2_qSNz_PG_SCY_Q70]

1. A-lll,B-Il,C-1,D-1IV

[Option ID = 5677]
2. A-11,B-1I,C-1V,D-I

[Option ID = 5678]
3. A-IV,B-1,C-1ll,D-1l

[Option ID = 5679]
4. A-11,B-1V,C-1I,D-1

[Option ID = 5680]

71) Match List | with List Il

List |

List Il

Thinkers

Concepts

IA. Robert Michels

|. Power as Domination

B. Steven Lukes

Il. Power as Dependency and Domination

C. Anthony Giddens

Ill. The Iron Law of Oligarchy

D. Michael Foucault

IV. Power as Human Agency

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

xet -1 et -l

(Ria®) (3raem=um)

A. e Biolea |. ggiea v WU & oftp

B. éidel cgad Il. orftp bl forsizemr aemm yggra & U

C. woenefl Br3sa Ill. 3reu dq @1 a1 Dlolel

D. ssc bl IV. sirora sif$rzvr (wsidl) @ wu d orftp

oifa feu aru fasedl 3 A 8 3R gforu :

[Question ID = 1421][Question Description = S2_qSNz_PG_SCY_Q71]

1. A-1L,B-1I,C-1V,D-1l

[Option ID = 5681]
2. A-1L,B-1,C-1I,D-1V

[Option ID = 5682]
3. A-IV,B-1Il,C-1,D- 1l

[Option ID = 5683]
4. A-11,B-1V,C-1I,D-1

[Option ID = 5684]



72) Match List | with List

List | List Il

Author Books

A. C. Geertz |. Staying Alive: Women, Ecology and Development

B. A. Agarwal Il. Agricultural Involution: The Process of Ecological Change in Indonesia
C. V. Shiva Ill. Environmentality

D. G. A. Cajeta IV. Indigenous Community: Rekindling the Teaching of the Seventh Fire

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et | e -
(Raw)  |(gradd)
A. Mt Brést ||, ¥e<or warrsel : dldiol sicifsll Us Sacudic
1. woffepearel soralcyQret : G YiRIRA 36 sepiciifsrae st sof
[ESIoIforI
C. &I, Brar |lll. scrarReEicferét
D. st w . . - !

IV. R3frorT orIford : Rasisteist ¢ éfkist sife g Ader BRR
oif<l fSu aru fawedl 3 A A8 3R gfore :
[Question ID = 1422][Question Description = S2_qSNz_PG_SCY_Q72]
1. A-,B-1,C-1ll,D-1IV

B. w, s@parct

[Option ID = 5685]
2. A-IV,B-1lll,C-11,D -1

[Option ID = 5686]
3. A-1L,B-NI,C-1,D-1IV

[Option ID = 5687]
4. A-U1I,B-1,C-1l,D-1IV

[Option ID = 5688]

73) Match List | with List Il

List | List Il

Books /Authors

A. Social Change I. Neil J. Smelser

B. The Sociology of Economic Life Il. William J. Goode
C. The Family lll. Wilbert E. Moore|
D. Social Stratification: The Forms and Functions of Inequality[lV. Melvin Tumin

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l

(gzar) (arp)

A. Aloret st |, ofict 3. FARR
B. o 2R st caiifia cren '%’:ma

C. ¢ Bt . fereraé $. a1z
D. Jorer I¢Ifefbaborel : ¢ BIRd Us BavicA 3B V. 3

gorsaarerct
oflax 3w o1 el 3 A A I gfom :

[Question ID = 1423][Question Description = S2_qSNz_PG_SCY_Q73]
1. A-lILB-L,C-Il,D-1IV

[Option ID = 5689]
2. A-1,B-1l,C-1I,D-1IV

[Option ID = 5690]
3. A-IV,B-1II,C-11,D-I

[Option ID = 5691]
4. A-1LB-1,C-1,D-1IV

[Option ID = 5692]

74) Match List | with List Il

IList | List Il




Books

/Authors

A. The Elementary Forms of Religious life

I. M. N. Srinivas

B. Religion and Society among Coorgs of South Indialll. A. Krober

C. The Science of Culture

lll. Emile Durkheim

D. The Nature of Culture

IV. Leslie White

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxe -| et -1

(g ) (crz1p)

A. g oferdid) wiet siftw RfeifSisra asw |. w3t wol. offiforarar
B. RferfSrror Us Alarsél wanisr aol siiv Asy sfsan Il. o. pr=

C. g 13 36 DR 1. vanéer gafsa

D. g olR 3 dear IV. arcll arse

oifa feu aru fasedl 3 A A8 3R gforu :

[Question ID = 1424][Question Description = S2_qSNz_PG_SCY_Q74]

1. A-,B-1I,C-1l,D-1IV

[Option ID = 5693]
2. A-lILB-1,C-1V,D-Il

[Option ID = 5694]
3. A-I,B-Il,C-1ll,D-1IV

[Option ID = 5695]
4. A-IV,B-1I,C-1,D-1I

[Option ID = 5696]

75) Match List | with List Il

List |

List Il

Book/Works

Sociologists

IA. Research Methods in Social Relations|l. Goode and Hatt

B. Methods in Social Research

Il. Schuessler and Mueller

C. The Rules of Sociological Method

lll. Seltiz, Jahoda et. al.

D. Statistical Reasoning in Sociology

IV. Emile Durkheim

Choose the correct answer from the options given below:

It -1 Bt g -1l A gakma Hifde

oxeht -1 et -1
(302 / ¥eton) (rarst om<f)

A. foref drersa sor AfORIeT Rrdrerea I. 3 ok 3¢

B. drersd sof Alore feret Il. 9RIeR Us PRk

C. g 3cA i ARRIIRIBT Aers lll. Afecst, siBkst anfe
D. ¥*fRBcwa Ssifoist o1 ATl IV. waréa gafen

oifY feu oru famedl 3 A 8 3R gforo :

[Question ID = 1425][Question Description = S2_qSNz_PG_SCY_Q75]

1. A-1,B-1I,C-1l,D-IV

[Option ID = 5697]
2. A-1ILB-1,C-1V,D-Il

[Option ID = 5698]
3. A-1,B-1I,C-1V,D-I

[Option ID = 5699]
4. A-1IL,B-1V,C-1,D-1I

[Option ID = 5700]

76) Arrange the following three stages proposed by August Comte in the proper sequence

A. Theological stage
B. Positive stage

C. Metaphysical stage

Choose the correct answer from the options given below

3PR< ®i¥¢ ol forFaifeiRaa diiol @RUI yqd fopu 3, Io8 Al oyt 3 cuaieada Hifse :




A. eptordia arur
B. fortrmca® @RUT
C. arafiaRi arur
ofi o s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 1426][Question Description = S2_qSNz_PG_SCY_Q76]
1. A,B, C

[Option ID = 5701]
2. AC,B

[Option ID = 5702]
3. C,B, A

[Option ID = 5703]
4.B,C, A

[Option ID = 5704]

77) Arrange the occurrence of the following technological revolutions in chronological order from the earliest to the latest
A. Printing revolution

B. Green revolution

C. Industrial revolution

D. Bio-technological revolution

Choose the correct answer from the options given below
forraiferRaa gienf3rh! qmiferil @1 IoTd> Blol D DITRATRIR *Idferd bifsre :
A. oot @ifar

B. sf¥a amifer

C. sienfEes apifar

D. Sia - gienfrhl apifer

i) feu aru famedl 3 A A8 IR D1 WRIel B :

[Question ID = 1427][Question Description = S2_qSNz_PG_SCY_Q77]
1. A,B,D, C

[Option ID = 5705]
2. A,C,B,D

[Option ID = 5706]
3.B,C,D,A

[Option ID = 5707]
4. C,A B, D

[Option ID = 5708]

78) Give the correct chronological sequence of the works of B. R. Ambedkar.
A. Who Were the Shudras?

B. Annihilation of Caste

C. Castes in India: Their Mechanism, Genesis and Development

D. The Untouchables: Who Were They and Why They Became Untouchable
Choose the correct answer from the options given below

dl. 3IR. 3FASDR DI DICRIT DI IoTd AS! DITRAGRIR =IalFerd Hifse :

A. 3 a3 gt

B. ufsifdciorst sife @<

C. BT 3 3B : 3R, Apforsd, JIRRT Us Sacudic

D. g selcadcd © g @R 3 US &5 ¢ DA sfeicaded

il fou o1 fraseul 3 3 I IR BT TI6T HIfSIE ©

[Question ID = 1428][Question Description = S2_qSNz_PG_SCY_Q78]
1. D,C, A, B

[Option ID = 5709]
2. C,B,A,D

[Option ID = 5710]



3. A/B,C,D

[Option ID = 5711]
4. B,D, A C

[Option ID = 5712]

79) Arrange the following activities in sequence as per their occurrence during a year
A. World Forestry day

B. World Heritage day

C. World Environment day

D. World Ozone day

E. World Population day

Choose the correct answer from the options given below

forgotfciiRaa wRiwmerl @I ad 3 IoId> HolIT Sliol B Al aP 3 caai-erd Hifsre
A. freq qot Rawr

B. fora frrra Raar

C. fra gafazor ot

D. farea siiler feaar

E. frea Srorizen féat

ofi o s1u fweul & A A8} IR @I wRI6 HifSrT :

[Question ID = 1429][Question Description = S2_qSNz_PG_SCY_Q79]
1. A,B,C,E, D

[Option ID = 5713]
2. A,C,D,B,E

[Option ID = 5714]
3. AD,B,EC

[Option ID = 5715]
4. D,AB,CE

[Option ID = 5716]

80) Arrange the following states according to their level of urbanization in descending order as per the Census 2011
A. Himachal Pradesh

B. Tamil Nadu

C. Gujarat

D. Haryana

E. Punjab

Choose the correct answer from the options given below

forgorferRaa 2wl &bt ad 2011 3 Bl 51 SIoPIVIGN B IR ABIDBIVT B IoId> FAR DI RIS B 3 Rral¥era Hifse :
A. B gger

B. afdictons

C. sprRIa

D. sf¥=mon

E. dema

il fou s1u frpeul 3 A & IR BT TI6T HIfSIE ¢

[Question ID = 1430][Question Description = S2_qSNz_PG_SCY_Q80]
1. B,C,E, D, A

[Option ID = 5717]
2. A,C,D,B,E

[Option ID = 5718]
3.CD,B,AE

[Option ID = 5719]



4. E,D,C,A,B
[Option ID = 5720]

81) Within the feminist movement, a wide and diverse range of theories have emerged. Arrange these perspectives in sequence
A. Marxist feminism

B. Post-Modern feminism

C. Liberal feminism

D. Black feminism

E. Radical feminism

Choose the correct answer from the options given below

SIRIaId] sticicrol 3 A dl i YR @ Rigia fu s 3, so ubgl ol w18l @a i =af¥ua HifSe :
A. arazfarét siflarg

B. 32 - angyforas amrslarg

C. SorRar} siiarg

D. oarmr (arder) osiare (sdtas BiifsH)

E. 391 airdlare

ofld R s1e fameul # A A& IR BT wRIeT HIfSTE

[Question ID = 1431][Question Description = S2_qSNz_PG_SCY_Q81]
1. A,C,B,E,D

[Option ID = 5721]
2. E,D,C,B, A

[Option ID = 5722]
3. C,AED,B

[Option ID = 5723]
4. B,AE C, D

[Option ID = 5724]

82) Arrange the following functionalists in chronological order as they have contributed
A. A. R. Radcliffe Brown

B. B. Malinowski

C. E. Durkheim

D. R. K. Merton

E. Talcott Parsons

Choose the correct answer from the options given below

forratferRaa ywriaifeRil ®l o1 RI GU 31T ARIeel @ PIamd @ eRIR calerd Hifse :
A. u. 3R Isfderd - §8er
B. &i. afereliardt

C. § gafsa

D. 3R. &. Iéaa

E. craomic urica

ofid 3 s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 1432][Question Description = S2_qSNz_PG_SCY_Q82]

1. B,C,A D, E

[Option ID = 5725]
2. A,D,B,C,E

[Option ID = 5726]
3. C,B,AE, D

[Option ID = 5727]
4. B,A,C,D,E

[Option ID = 5728]



83) Arrange the writings of Durkheim in chronological order
A. Moral Education

B. The Division of Labour

C. The Rules of Sociological Method

D. Suicide

E. The Elementary Forms of The Religious Life

Choose the correct answer from the options given below

guisa &l forelfeiBaa oferil @ Jél dIaTRARIR craf¥erd bifsm :
A. e od9re

B. ¢ f3ferstar sifw ciar

C. g ¥wc s APRIdEISIea Aus

D. =yarss

E. g uferdidl wiad siiw g RfeiorrT asw

il feu a1u farasedl 3 3 A8 IR @I TR HifSre:

[Question ID = 1433][Question Description = S2_qSNz_PG_SCY_Q83]
1. D,E,C, B, A

[Option ID = 5729]
2. C,B,E,AD

[Option ID = 5730]
3.B,C,D,E A

[Option ID = 5731]
4. A,C,D, B, E

[Option ID = 5732]

84) Arrange the Varna Ashrams of the Hindu way of life in the correct sequence
A. Grihastha Ashram

B. Sanyas Ashram

C. Brahmacharya Ashram

D. Vanaprastha Ashram

Choose the correct answer from the options given below

fBog_ Shider uglr @ 3eRAR, foroifciRaa ol A8t @ 3 =ralFera HifSe :
A. I1EFe oA

B. 3Gt 3o

C. Jorert smopH

D. areigzer smoA

il fou o1 freseul 3 31 ) IR BT w6l HIfSIE ©

[Question ID = 1434][Question Description = S2_qSNz_PG_SCY_Q84]
1. A,B,C,D

[Option ID = 5733]
2. D,C, A B

[Option ID = 5734]
3. B,AD,C

[Option ID = 5735]
4. C,A, D, B

[Option ID = 5736]

85) The Exchange Theory was propounded and/or advanced by which one of the following sociologists?
A. B. Malinowski
B. P.M. Blau



C. A. R. Radcliffe Brown

D. G. Homans

E. Talcott Parsons

Choose the correct answer from the options given below
forgatferRaa 3i 3 fpet AersIoNRaRl of faforrr Rigia o1 gade fipem 3 aer 32 sie! agrI & ?
A. & dferelaz<bt

B. di. war. s

C. u. 3R. Isfraw g

D. sit. SpieA

E. crerpic urica

il feu a1u faredl 3 A A8 IR D1 WRIel B :

[Question ID = 1435][Question Description = S2_qSNz_PG_SCY_Q85]
1. A, Band C/A, B3z C

[Option ID = 5737]
2. A, Band D/A, Bsiz D

[Option ID = 5738]
3. B,C,DandE/B,C,Dalr E

[Option ID = 5739]
4. A,C,DandE/A, C, D s E

[Option ID = 5740]

86) Given below are two statements
Statement I: According to A. van Gennep, a direct rite is a curse or a spell.
Statement Il: Direct rites are designed to produce results immediately, without intervention by any outside agent

In light of the above statements, choose the most appropriate answer from the options given below

il ol Dol fdu sre 3 ¢

@l - | : U, ol Slolu B IIGRIR BIS YrAgl ecolol (SRRAC Asc) IS f3ony srerar acorafd (¥et) aar 3
Do - || : geagt iopeorel fipdl arsst sifdrmat (gsic) @ sadia @ e acmrer afevmar & gifit 3q fpu s &
SWRITP Pl D 3Iclid A, ofld v s1u fRrpedl 3 A AR IuYTh IR DI Tol HIIT ©

[Question ID = 1436][Question Description = S2_qSNz_PG_SCY_Q86]
1. Both Statement | and Statement Il are correct/aerat | 3ii2 || Sl &8 &

[Option ID = 5741]
2. Both Statement | and Statement Il are incorrect/@erwr | 3tz || Sloil srctd &

[Option ID = 5742]
3. Statement | is correct but Statement Il is incorrect/wmermer | 3@t 8 , fpog e |l srera 8 |

[Option ID = 5743]
4. Statement | is incorrect but Statement Il is correct/@ert | srera 8, fpoq weret || 31t &

[Option ID = 5744]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Eradicating poverty in all its forms including extreme poverty is the greatest global challenge

Reason R: It is an indispensable requirement for sustainable development

In light of the above statements, choose the most appropriate answer from the options given below

il &1 weror Ru are 3 :

sfdreret - (A) : swiftio Rreforar afda it yor Bt Rielorar B gz oo Al goiid 3
PRI - (R) : W18 Jadq faert @ fo1e saf¥sr smavamar 3

SWRID Dol @ 3MIclid A, ofid fGu a1u famedl 3 A AR IUYTD IR DI TIol HBIfSIT ©

[Question ID = 1437][Question Description = S2_qSNz_PG_SCY_Q87]
1. Both A and R are correct and R is the correct explanation of A/@memt | iz || Sl 31t &



[Option ID = 5745]
2. Both A and R are correct but R is NOT the correct explanation of A/@erer | 3iiz |1 &loil stcta &

[Option ID = 5746]
3. Ais correct but R is not correct/wmepor | 2@l &, fivog el |l st &

[Option ID = 5747]
4. Ais not correct but R is correct/eret | sicia 8, fbog weret || 38t 3

[Option ID = 5748]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Democracy has become a global force; while it has become widespread, but all is not well with this political
system and it has got into some difficulties almost everywhere

Reason R: For its failure, it is not the institution itself that is to be blamed; it is the way it has worked or the way its working
has been distorted and manipulated by those in power

In light of the above statements, choose the correct answer from the options given below
il S perel fRu sre 3 ¢

@l - | : cliade v Affawm gt 8l SRI 3 eI As RMUD WU A YAl 3, URd 51 ISHifere wraven 3 34 @p Sl ofdl act @I 3 a1 YR
32 SPIE 33 ATl 3 BB of TP ISl 311 I 3

@t - |l : 33 crazen & fawaar @ fere $31 Azen @) QY o1&l &= st Awdr, afcs BT faf? A e orf e 3 sterar 1 fafer 3 st
PRIBGWT Dl AT &Rl GRI AlST FRIST 9RI 3 3R 33 SerIlSlell JURIIPI §31T 3
SWRITD Dol @ 3Mrelld #, ofid 13w 31w faedl 3 3 AT IuPeD IR DI TWIol HIfSIT ©

[Question ID = 1438][Question Description = S2_qSNz_PG_SCY_Q88]
1. Both A and R are true and R is the correct explanation of A/@emwr | 3iiz || Sleil 3dt &

[Option ID = 5749]
2. Both A and R are true but R is NOT the correct explanation of A/@emwt | 3iz || Sleil st &

[Option ID = 5750]
3. Ais true but R is false/@ermer | 3@ 2, fpog et |l st &

[Option ID = 5751]
4. Ais false but R is true/@ewr | s1cia 3, fipoqg et |1 & &

[Option ID = 5752]

89) Given below are two statements

Statement I: Some major concepts and approaches about social change in India can be grouped as Sanskritisation and
Westernization

Statement IlI: The term Sanskritization was used by M. N. Srinivas to describe the process of structural transformation in the
Indian social structure

In light of the above statements, choose the most appropriate answer from the options given below

ofil &t werer Ru s 3 :
Dol - | : siRa 3 ArfSTIo ui¥adel o Ygza MAENRUIEI oIl 3UPRHEIl ®I JFD o1 dar ufpiiavr i gsiiapd fear s Amar &
Dol - || : FATDITDIT orec DI IURIIBT TH. Tol. fiforard of HRRI F<roll 3 F¥dolicad Faulacdier oI yfapR oI auicl w2ol & fere fopam 3

SWRIRP Dol @ 3Mrelld #, ofld 16w 31w faedl 3 3 AT IuPeD IR DI TRIol BT ©

[Question ID = 1439][Question Description = S2_qSNz_PG_SCY_Q89]
1. Both Statement | and Statement Il are correct/aerat | 3iiz || Sleil 28t &

[Option ID = 5753]
2. Both Statement | and Statement Il are incorrect/eret | 32 || Soil arcta 3

[Option ID = 5754]
3. Statement | is correct but Statement Il is incorrect/wermer | 3@t &, fpog @weret || s &

[Option ID = 5755]
4. Statement | is incorrect but Statement Il is correct/@emt | s1cia &, fepog et | A&t 8

[Option ID = 5756]

90) Given below are two statements
Statement I: According to A. Schutz, the world of everyday life is not permeated by the epoch of the natural attitude
Statement II: All the objects of the Social World are constituted within a framework of familiarity and pre-acquaintanceship

In light of the above statements, choose the most appropriate answer from the options given below



off< < werer Ry a1 3 :

oerel - | @ u. 9IcH B SRR, Yrafere ifight @ el R Sfore sfiaet &t gform ursrer o8t 2t 3
e - |l : JafSre gforn & it avqe Afisar aen yd - ufifRaar @ siaefa sid @ sfiar gorct 3
SWRIFP Pl @ 3Mrelld #, ofld 3w 31w fRrpedl 3 A AR IuYeP IR DI TRIol HIPIT ©

[Question ID = 1440][Question Description = S2_qSNz_PG_SCY_Q90]
1. Both Statement | and Statement Il are correct/erer | 3tz |1 et 31 &

[Option ID = 5757]
2. Both Statement | and Statement Il are incorrect/aemer | 3l || Gl ket &
[Option ID = 5758]
3. Statement | is correct but Statement Il is incorrect/erwt | 31& 8, fpoq werer |l steta &

[Option ID = 5759]
4. Statement | is incorrect but Statement Il is correct/@emwt | s1ci &, fpoq Dot |l 3@t 8

[Option ID = 5760]

Topic:- Sociology_Set2_B

1) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge”
should yet have been emerging. It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists' "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out.

forgetferRaa srerior ol earegde ufgu iz 43U 318 yest @1 3w difSte ©

'sitel’ <bl 3RuTe SraerRun @ fere griaca delt s aaf o IYRIfSradr o1 Sxaa gu U 3ref @I 3irol il arbl 3 33 Aes "yYferfepamsll GR1
©d A DA el bt sRI 3 33 YRy AoASIel sraemRumsit TPRRN A sree1 v sri 3 3k A w9 JAftpe siiz ool dlar 3 grfiol gear Jot
@D B D FAIS A 3T SAlol IWRIRT 3R AdSIoID o1 530l sHR JYgz D gdonfIril srerar gdsil @l Uil iRl @I Jotlol 3 JABRIAI &I ariifes
368 3ol 9RIR @ 3adl 3ii= 3icll Bl DSl DI GRI Dol D fe1e sorbl magddr ot 21 Io1 Wsft clivll grRrI Aaferil @I yRuidda 3R seaiarda
fopen srRi fSrealor arer & eils @I fomrivr fiben 531 YR A Siret @ M8 s sri - uRoq 331 dact A=A & o8l fpen sr 531 SireT @1
Joorrol 3iI farar oft fopa srRI < sreran oot A aoiR ad &t sraf?r 3 geracafig Toig s1u a1 & sedis WU 3 U JURI DI GG ADdI 3 Sil Jold
foratfur bt apolles 3 uf¥adcr @I it g ADA 3 DA YART SRI &l dgd Yerrd! 3iisIRI o1 foriur fopam sk A yomsit uf¥ador sier 3 aqIast @i,
FISil I den snferseorl @ corfd 3 fred Ardsifore fopar sRIr o aen uduRt 51, fren (sterelfer) srerar gy el 3 i3 fosen SR 3iiz 568
greilel gar Yoflol A # sxaialia siik wrzEE v srRn QRIAcaficl GRI S 318 334 YeIrdl uf¥adol a1l a1 s2iisST dlq Thb AT ddoildl
ferp1RT T Jrere 3 3R 9B ol 312 A F6llW 318 UreRR 31R 3331 @ Il ISR A cipr argfre] A foifdta sifeet arofiell aw 3iiz Dide usrell A1 forfdfa
Fiofiol 168 faera TR 3iiR s awm b SIHhRI HSli CRI USRI SIIAI 3 A6 a6 ddelldl Yl 3 SRTel el YsiIier oI Sfidel ATUel o fere il
gicigisal 3 Aol Sifer b Siia ol Hfolf2ad fopar 8 ueq, ddoiidl f[aPRT 36l 3mu 3 Siiel A<iclol T UvIE 3R YuId & A6 Aclol sAlIe
3@ o1 RIifep HArela Sirel Ardsifored o1, fpt it yenfer o1 ves WS 3ruol S1fSta sirer Bl GIR dd YRAif¥a dadr o

Serviceable tools were needed to supplement the deficiencies of
d 3iiSIR {3168 SURIIST 31 CIRIT SIT ADdI & Iolhl MARADAI fpADT BRI DI g3 @l @ ferw fi?

[Question ID = 1441][Question Description = S2_qSNz_PG_SCY_Q91]
1. Bodily organs/9omlz @ srawra (3ist)

[Option ID = 5761]
2. Knowledge/=iar

[Option ID = 5762]
3. Machines/softor

[Option ID = 5763]
4. Nuclear power/smsicbler 3ot

[Option ID = 5764]



2) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge”
should yet have been emerging. It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists' "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out.

forgatfcii¥ad srernor ol &aogde ufeu 3 13w 31w gest @I 3w S :

'Sifel’ <l 3RFUTe IGEIRYI o feTe YRIdea ddell 33 Tal @ IYRIPBIDAI DI S¥d gU U 3ref oI 31reln 3l arbl 3 331 Assl 'Yferfpamsll GRI
DH A DA el v srr 3 3 YRIg HAcliidsiel sraemunsil ‘TR A sicrer fovar srn 3 iz A A9 Jafepd 3z ook alar 3 gredier yzar ot
@D B D FAUIS A F3I SAlol IWRIPTH 3R ANdSIors o1 56l AR Age D gdenfIril srerar gdsil @ 3uRiel iR @I Joilol 3 FAsRIAI &I ariifes
363 36l 9RR @ SrarRrdl 3iiR 31l bl ISR DI Y1 B0l D 1w sotdhl smagadmdr oft 31 Jof Wil vl grRI Aaferil @ yrifed siiv sedaiaka
v srn frealor a1er @ sells @I forafor e 331 YR 331 Sirel @I AL 5 sRI - ueq 331 Dact i & ordl e srm 33 HAI6T I
IooRIel 3R ferdrR o fopm s < sreran il Al &SR ad & sraf?r 3 yRidacafde gele a1e 1 @ gelis U I gu JEURI Bl GG ADdI 3 Sl Jold
forartor bt ol 3 ul¥ade @I off G JDAI & DA PART GRI 3 dgd Yerrdl SRl a1 foraaivr fosn srRi A yerwit ul¥adda sier 3 agias! @I,
ISl @l den nfasmRl ol coIid 8 3168 Ardsifola sl SR o1 A2 WRURI 3K, e (SteTeyfer) 3rerar gIep silel 3 A3 fdv=ar srin SiiR $06
Yreiiol Yar goilol AATS 3 s3dicidd 31 R {1 SR YRIACAIGT GRI ¢34 318 37 YIdl Ulkaciel 's1el oI 3lSI Al T AMHIGA ddoiidl
forpR1 1 IwreT 2 31k as 9ft B1er A TOIT I UceR 3R 5331 B IR ISR A dI? angfig) A forfdfa sifeer wofiell aas iz wfpr usrelt A forfdfa
Fioflol o168 frea oRI 3iiR A6t awm & oMbl Feif TRI TR Sl 3 A6 a6 ddeildl yoIfel 3 RrRTel Hrera ysifer oI Sfide Arue @ fere it
gfeigie:l 21 ot sufer & Sfia ol Fforfaa fopen 3 uveqg, amoiidl PRt el 3mu 3 Sirel JH<clol oI ulvnd 3R Yo 3 A Adclol sAfe
9@ T RIS Aol Siiel Ardsiford o1, b1l off ysmfer o1 v A6 vl 3ifsia Siret @I g ad YRIfsa dar ar

Technological progress is the result of the accumulation of
dwmolidhl famrRT fibads Ferrer o1 ufsvmer 3 ?

[Question ID = 1442][Question Description = S2_qSNz_PG_SCY_Q92]
1. Wealth/m@rfg
[Option ID = 5765]
2. Knowledge/=ior
[Option ID = 5766]
3. Surplus/aifarom

[Option ID = 5767]
4. Raw-material/msf

[Option ID = 5768]

3) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge"
should yet have been emerging. It has at least been distinguished from instinctive “responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists' "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out.



forgotferfRan srerior @ earegde ufsu iz Y s1e yeor o1 3= e :

'sitel’ bl 3RuTe raeRun @ fére yriaca del s aaf @ IgRIPBImdr I Sxad gu U 3ref @I 31rol il arbl 3 33 Aee "yYferfpamsll gR1
DH A DA AT BT 9RI 3 3 YRIg AallidsTiol raerRuIail 'THRIT A srere1 fop=n sRI 3 3R A A9 Juftpe 3R forsll alar 3 yreilel g Jor
@D B D FAS A F3T SAlol WINPT 3R ArdSIford o1 36!l AR gz D gdenfril srerar gdsil @I SuRIeh iRl @I Jotrol 3 FAsRIAI &I a=ifs
368 3Uol 9RIR @ 3ra=Idl 3R 3idll I DHSIIRIT DI G D6l D 18 soIdl 3magaacdr &l 331 Iot il cllvll gRI FHdlerIl @I gy siie sxaiata
fopen s fredior arer o el ot foerivr b 331 YR 33 Siiol @l AR s SR - WReq) 33 dad Mera & oidl foven srn 531 StreT @1
JooRTel 3R faar oft fopen s <Y srerar et A1 &oIR adf &t sraf?r 3 grracafag deie s1e srer @ sellS U I 5T YR B GG ADI 3 Sil Jold
foraifor bt awolle 3 ul¥ader @I ot g AP 3 DA YART SRI &l dgd YuIrd! 3iisIRI oI forior fopan sk A yomsil ul¥adet sier d sqIast @I,
FISil @I den snfesorl @ gorfd & fred Ardsifore fopar srRi o aen u3uRt 34, fren (sterelfer) srerar gy el 3 Fanfadd fosn sri 3iiz 568
Yrilel gar Yoflel A A s3aiaid 3iik xxarwM oo sRI GRIAaficl GRI 33 918 33 Yl ufsacdol a1l @I s2lIST g Td AT ddoildl
fr1RT @I rere 8 3R a5 o B1e A Follu 31U UeeRR 311 3331 @ el SIS A cidr argfdre] A feifdia sifeet aofiell awm 3iiz Dide usrell A forfdfa
J1ofiol 5168 el gRI 3R ABl ad b S~ Il SIRI ACIRI Sl 8 A6 d8 dadoild] YaIfe & 1ol dAtela Ysiife ®I Sfidel Ardsl @ fero it
gfergis:il 21 aere sufer &l sfia o1 Afsifkia fopn 3 uveq aweildl fbr1 srael 3mu 3 St Fdciel I uf¥vid 3k Y[ 3 A8 Idclol sAfere
J31a o1 RIifp HAreld Sitel Ardsiford o1, fpit ot genfer @1 v Ace 3ruol S1fSta et ol IR a® Yaf¥a oar an

Archaeologists can detect in the form of hand axes and change in
QRIAcafde srel & gells @ wUl 3R _ 3 uf¥ada o gg JAda &

[Question ID = 1443][Question Description = S2_qSNz_PG_SCY_Q93]
1. Cost of manufacture/fomiivr &I cBIT

[Option ID = 5769]

2. Use of manufacture/3curg @t 3uwRier
[Option ID = 5770]

3. Inputs in manufacture/3eurs 3 forder (so1ge)

[Option ID = 5771]
4. Techniques of manufacture/3curg &I amolle

[Option ID = 5772]

4) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge”
should yet have been emerging. It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists' "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out.

forgaifeilRaa srerior ol earegde ufeu iz f3u s1e yest @1 3w difSte ©

"6l I U ARV @ [0 YRIdea Jideft 531 Taf & JYRIfBSradr ®I ¢xad g8 W 312l ®I 3irel il ardbl & 31 Jssl "Yferfpmsll GRI
DI A DA 3Hcil BT SR 3 31 YRIg Aollfdsiiel SAERUIsll TRl A 31crol fipar o1 & 3R A 4 dfep 3ii= forsil slar 8 Yrediol YR Jo1
@D BIA D sAIS A ST Sl SURMIGTL 3i1R ArdSIfoldd o1 3ol FAR Pgz D Ydonfril srerdar gdsil ol SurRIsil SiiSIRI @l dollol 3 AsRIAT &I a=iifd
363 3ol 9RR @ JfarRrdl 3iiR 3iell bl DISIIRIT DI YT B0l D fo1u sorchl smagaddr off 31 Jof Wil vl crRI Haferil @ yenfed siiv seaiaia
s srm frealor a1er @ gells I foraifor fRben 331 YR 531 Sirel I AL 5 sRI - ueq 331 Daet i & ordl e srm 53 SAIoT @1
JooRTel 31 foar oft fopen s <Y srerar <ot A1 &oIR adf &t sraf?r 3 gracafag Tl s1e arer & sedis U 33U JeRI B GG ADI 3 SiI Jold
foraitur bl apoliee 3 ulkacdior @I 9l G ADAI 3 DA YART FRI 3l dgd Yl 3iisIRI oI forivr fopm sk A yomsdl ufrader sier 3 sQIast @I,
Zlsil ¥ den nfaserl of gorfd 3 Ried Ardsifore s sk o aen u3uRt a1, fen (Seregfer) srerar yRep siret 3 Janf3a s sri SiiR so8
graiicl Yar goilol AATS 3 s3dididd 3R R {51 SR QRIAAIGT GRI ¢34 318 3 YIdl Ulkadiel 's1er ol 3iSI Al U AMHIGA ddoiiddl
farrR1 @1 FIwren 2 31k as 9ft B1er A ToIT IIU UceR 3R 533t B IR ISR A dI? engfig) A forfdfa sifeer wofisll as iz wfpr usrelt A forfdfa
Fiofiol RBred e grI SiiR Ast a® & oMbl Feif SRI TR Sl 3 A6 a6 ddeild! yoIfel 3 RrRTol Frera ysifer oI Sfider Aruer @ fere it
gfergie:il 21 ot sifer & siia ol Aforf2aa fopen 3 ueq amoiicdhl PRI el 3mu 3 Sirel JHeclol oI ufvnd 3R Yo 3 s Adclol sAfee
J31a o1 RIS Hreld Silel Ardsiford o1, fpil off genfer @f v Ace 3ruol S1fSia et ol eI a® YRAifea odr an

The distinction in knowledge has emphasized through
SiIet 3 3R @ 95 Uz b amerrar A gt &= sRm 3 ?
[Question ID = 1444][Question Description = S2_qSNz_PG_SCY_Q9%4]



1. Myths/firers

[Option ID = 5773]

2. Manufacturing/3curGet
[Option ID = 5774]

3. Memories/zgferif

[Option ID = 5775]
4. Machines/aoftot

[Option ID = 5776]

5) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge”
should yet have been emerging. It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists' "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out.

forsaiferRae srerior ol earorgdes ufeu 3 f&u a1w yeosr @1 3= difSe :

'sitol’ bl 3rute raerRun & fore yridaca Jdell s aaf & AYRIfBredr o1 Sad gu SR 3ref oI sirol il arbl 3 337 Asst "yferfipamsil Rt
D A DA el fpar srr 3 3 YRIg Aclifdsiel sraemunsil ‘TR A sicrer v srn 3 ik A Aq Jafepd 3iiz ookt alar & gredier yzar ot
@ BIeI D FAlS A J3T Siol WINPT 31z Ao o 36! THR Yz D gdoniIril srerar gdsil ol SRl iSR! @) dotrol 3 JsrRIar &t w=iifs
368 3Uol 9RIR @ 3rarIdl 3R 3idll bl BHSNRRIL DI g1 Dol @ fo1e sordl smagacar oft 33 3ot il vl gRI JHdaferil @ gaaf¥a siiz sxaiatya
oo srn fSrealol a1er @ sells @I foraafor e 331 YR 331 Sirel @I AL v sRI - ueq 331 Dact A & ordl o srm 33 FAT6T @I
IoolIel 3iIR faraR off fep=r SR <1 srerar «ilel Al asIR ad &t 3raf?r 3 grracafdeg SolIu 31T 31 @ IS PU 3 U JERI DI GG ADI 3 Sll Jold
forarior i aoiics 3 uikacde @I off GG JDAI & DA JART GRI 3l dgd YuIrdl ISRl I fordaivr fovn srRi A ya1eil ulkadde sifel 3 dagias! @I,
sl @l do MRl o gorfd 3 ed dsifore b sRI en aen u3url o1, [&en (Seryfer) srerar gges sirel 3 wenfda fop=n sk 3iik 568
grellel gar Yofior A # sxaiafia siiz ez e srn QRIacaficl GRI S 318 33 Yerdl uf¥acdot a1l 1 s2iisSI Al Thb AT ddoildl
forpR1 b1 FIreT 2 311k as 9ft B1er A FOIT I UreR 3R 5331 B IR ISR A dIa? andgfig) I forfdfa sifeer wofiell aas iz wfepr usrelt A forfdfa
Fiofiol o168 frea oRI 3iiR A6t awm & oImihRI Feif TRI RN Sl 3 A6 a6 ddelldl yoIfel 3 RrRTel Hrera ysifer oI Sfidel drue @ fere it
gl 2 ot Sufer & Sfia ol Fforfaa fopen 3 ueq, dmoiidl PRI 36l 3y 3 Sirel JH<iclol oI ufund 3R Yo 3 A Adclol sAfe
A AT RN ATl SAlel Ardsifold o1, =il off Ysifer oI v AGT 4ol 3MfSida Siel DI g dd YRIfsd ddrl a1

What was the knowledge embodied in the hand axes of the Old Stone Age?
Yreilel ardIvT Yot 3 31l DI pearsl 3 foifdd sirer o= ar ?

[Question ID = 1445][Question Description = S2_qSNz_PG_SCY_Q95]

1. Creative/3doicaicd

[Option ID = 5777]
2. Scientific/3dsuform

[Option ID = 5778]
3. Useful/3u=nsft

[Option ID = 5779]
4. Progressive/ysiferact

[Option ID = 5780]

Topic:- Sociology_Set2_C

1) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed' and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such



dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

fogatferRae srerior @l eareigde® ufew iz o) 3w 510 yest @1 3= difome :

HRA 3 GlP9NE] AT D MEYFIDIDUT eIl T ABAN - SIodl HAlGIDRI Iaren D famrRT 3q Aaiftim Feril Jwencae offd yod @il 3 s
DI 33T ofdl 3 b sli29ndl @I Ml ARFDITD Fdolra DT ATHGI Bl USAI & A Tolld olipMBEl D AR - AHIelAD ABHIPIAT A YIDT &
3 IcUool BId 3; IJolbl uf¥arR, sufer aem I, iRl sotewrar (unfé agenf¥sar) Iorchl olibomns - Ierv Yfdrpt i Ardsiolianur G RaRemRT I
TIHRIE IcUool B2 AP 3, 3ol Ruftbord fore01 o1 'PRIfeRI’ D fAf2Ip sreiEra ae1 spidar @ & A forwd Aodl 3 urod 3o Wl @l 34
f3rea ¢RI U= 3Ma9AT HeT fERIT SR 3 el Jof UR IIA9ABAI A Mf2rd det {3 sk 3 5 A dotra uwifere U 3 MRl J1ars & srcu
'freRa’ den urRuf¥e Faeu A ScUsd B3I 3: S & 3 UR IS A R o 3 dl urd 3 o5 1o srpRIf oI Ader gl aen aeif @ orfts aen
AU el bl acsiisii A Slell Yelld Sidr 8 531 Fasu A oliwondl @ A roRIl & detell ufiedl Jarst 3 el srorRil A &I o @l 3 5
STcTd QdeRUII A DI A off a1 forderad: 3l & b Yoraicard U A el YIpsil ar uiRvmdl Ul IRa6iedid wuU A J3E gl el

R 3If2repior Ridel 3 sitrier sfifer 3icil 3 PRI URUR® ST @ mefordbiuT dI a1 Bl 3
What is the orientation of bureaucrats in India due to which that bureaucratic structure becomes dysfunctional?
HRA d cllp29NEl DI =T ggitl 3 RId PRI slla9Ndl eIl DRIcHAD 3l Sl 3 ?

[Question ID = 1446][Question Description = S2_qSNz_PG_SCY_Q96]
1. Ethnicity oriented particularism/grsireterdr s8R sfoioerdar
[Option ID = 5781]
2. Class oriented particularism/dsf 33 sieioRIar
[Option ID = 5782]
3. Caste and Kin oriented particularism/snfer aen i SR sotordr

[Option ID = 5783]
4. Racial and Class oriented particularism/srectizr aer asf 3 sioeleerdr

[Option ID = 5784]

2) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’' and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

forgotferRaa srerior @l earegde® ufgu 3iiz o 3w 318 yest @1 I difSie ¢

HIRA 3 SISl AATST D MEYFIDIDVI eIl b AL - Sl HloIDI caazell @ fadrRT 3q Adiferd Feril JAxrelica® ofid yod @il & 53
PIE 3HSE oIdl 3 b cilp2omdl Bl sIdf¥e ATDiIe dolra BT AT DIl USAI 3 A FTolld SDQMB! o iR - IFeIcHD AsHIBET i YPIDT £
3 IcUool BId 3; oIl uf¥arR, swfer aem e, sl sotexran (ufé agenf¥san) Iorchl olipomns - et Yyt i Ardsiolimu1 & RErRemrT 3
THAA IcUcol B2 ADd 8, 3olbl RAftbord foreol JoId ‘BRIfeRI & fAf2ID seiEra den sEidar & & 3 forpd Aadl 3 UReq sa TRl &Y 30
3re21T &RV UR 3Ma9AP HAETd [SAT SRIT 3 AT Iol UR MAADI A 3D sl 1 3R 3 o 3 Aol upiferds U A HRARI AATST B 3[ca
'frpR1a’ e uRufye Fasu A 3cUsol Bl 3: S 33 33 UR I8 3 AR o 3 dl urd 3 o5 el sIpRIf ol Jder el daon aell & oIfp aen
AU S ddlol I Tcolraii A Bloll Yeild 3Id1 & 330 IaeU 3 olid9NEl D UA PRI DI detoll Ulkiedl earst 3 fderiet srpRIt A &f S Addl 8 0
3Terd gdemrun A ok As 3ft a1 forwcad: sl 3 b yoRifcad WU A el gfpnsil der ufyvmedl ¥t Haeicae wu A J3r6l gig el

¥ aiferapior Ricor 3 siferapiorn sfifer AR ¥ Rl urRuf¥e AT B smeyfordiazor &t ara axdt 3
What is assumed about the Indian bureaucracy?
AR ollep2ondt @ farerRr 3t arRIT el SIrar 3 ?

[Question ID = 1447][Question Description = S2_qSNz_PG_SCY_Q97]
1. Functional equivalents are operating everywhere/ywriicads 3@rmet dq drRl a3 &

[Option ID = 5785]
2. Process of change is occuring everywhere/ufsader &t yfepem arde aet 38t 2

[Option ID = 5786]
3. Dysfunctional pattern/siorifcad yfererot

[Option ID = 5787]
4. Similarities between the Eastern and Western world/gdf aer uf2mft gform 3 o

[Option ID = 5788]

3) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual



normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed' and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

fogatfeiRa srerior @l eamergde® ufew iz ofi) 3T 518 yest @1 3= difvme :

HRA 3 SlP9NB] AT D MEYfIDIDUT eIl Tp ABAN - STl AlGIDRI Iarel D famrRT 3q Adiftie Feuril Jweicae® offd yod il & s
I 33E ofdl 3 1o slim29ndl DI Il ARG Tolra DT ATHGI Dol USAI & A Tolld olipMBEl D AR - AHIeIHAD ASHIPIAT i DT &
3 IeUool BId 3; IJolbl uf¥arR, sifel aem ol il sofeadr (urfé aeni¥sa) Iordl olidoms - JerH YfdmI A Ardsiolin01 Bl et 3
TEHRIE IcUool B2 AP 3, 3ol Raftbord fore01 o1 'PRIfeRI D fAf2Ip sreiEra a1 spidar & & A forpd Aodl 3 uroq o Wl @l 31
31 ¢RUI UR 39T AeT 3T SR 3 el Jol UR IA9ABAI A Mf2rd del {31 sk 3 5 A dotra uwpifere U 3 Rl J1ars & srcu
'freRa’ den uruf¥e Fau A 3cUsd 310 3: S & 33 UR IS A AR o 3 dl urd 3 1o soie srpRIf oI Ader gl aen gelf @ orfts aen
AT derol bl acolisii A Bloll Yelle Blar 3 37 Faey 3 slidondl @ TA pril bl getoll Uil TSt 3 ferrol srorRIf A b st ADdl & 52
STeId QdeRUII A DI As ol a1 forderd? 3l 3 b YorIicard U A el YIpsil ar uiRvmdl Ul IRT6icd® »u A A3 gl el

¥ siferapior Rider 3 sifereior sfifer Bl 3 Rl uruf¥e s & sngyfordimur & aa axft 3
In Indian society, dysfunction seems to be related to which one of the following?
SRR TSI 3 3rprRE o1 Ader forworferRaa 3 3 fReeRI don Yefla drar 3 ?

[Question ID = 1448][Question Description = S2_qSNz_PG_SCY_Q98]
1. Only relative deprivation/dact et dcoir
[Option ID = 5789]
2. Inequality/sriateiar
[Option ID = 5790]
3. Structural differentiations/<idmelca fafdeorar

[Option ID = 5791]
4. Power and relative deprivation/eifeb derr Jmier daet

[Option ID = 5792]

4) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’' and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

forraiferRaa srerior ol earogde ufeu 3iiR i fGu sre yost ot 3R difstu @

HRA Jd GHD9ME AATST D MEYFIDIDVT eIl Tp ABAN - 51 HIGIDRI caazell @ famrRT 3q Adifeim Feril JAxelca® ofld yod @il & 5318
PIE 3HSE oISl 3 b cllp2omdl Bl Idf¥e ATHITID dolra BT ATAGI DIl USAI 3 A FTolld SlDQMB! o iR - IFeIcHD AsHIBIET i YPIDI £
A IcUodl 31 3; Jorchl uf¥ar, sufer aem =N AR setordar (ufé wenf¥sar) 3orhl sliw29ms - o1 YfdrpT I Ardsioliarzur B framenr A
THAA IcUcol B2 AP 8, 3olbl RAftbord foreol JoId ‘BRIfeRI & fAf2ID seIEra den sEidar & & 3 forwda Aodl 3 WReq o TRl &Y 37
f3re211 &R UR a9 HAETd [SAT SRIT 3 2T Io1 UR A9l 3 3Mfern st &1 arn 3 & 3 Aol uwpiferas U A HRARI AAST & 3rca
'fapRa’ den uRuf¥e Faveu A 3cUocdl Bid 3: SId & 33 UR JIB3AS A fRIR 2 & dl Uurd 3 b 316id PRIl T Ade AAYPI AT aoll B Iftd aer
ATUET aTiol DI TcolI3li A Bloll Yeild BIdl 3 53 FaU A Glp9IEl @ VA PRIl DI getoll Uikl st A {deptol sIpRIt A &l S Al 3 33
aTerd gdemrun A ok A 3ft ara forwcad: sl 3 o6 yorifcad wu A Ferael gfpnsil den ufyvmedl 3t Haetcae wu A A3r6 gig Skl

¥ aiferapior Ricor 3 siftrapiorn sfifer At 3 Rl urRuR¥e® TS B smeyfordiazur & ara axdt 3
Indian bureaucracy suffers mainly from which one of the following?
SIIRAARI Gllp9Ndl Bl foratfciRaa 3 A FITRIGRT [BADT ABIGI Dol UsSdl & ?

[Question ID = 1449][Question Description = S2_qSNz_PG_SCY_Q99]
1. External cultural tension/amer Az dora

[Option ID = 5793]
2. Internal cultural tensions/sirf¥® Aot dera

[Option ID = 5794]
3. Role conflict/gifdrpt Gg

[Option ID = 5795]



4. Normative disorder/amerbRI siRazen

[Option ID = 5796]

5) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’' and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

forgatferi¥aa srernor ol earogda ufée 3iiR ikl fSu are st oI 3R difste ©

HRA 3 GHD9NE] FATST D MELFIDIDUT eIl T AN - ST HAIGIDRI gzl D fAdRT 3q Adifeim Feril Jxelca® ofid yod @il 8 5316
DIS ST odl 3 b clipondl &l 3MIcif¥ AFDIID Tolld DI APIGI DI USAI & A Tolld olIbQMBl D IR - IIeIIcHD AsHIPBI 3 YfpT S
3 3eUool B &; Jolcbl ulvar, Sifel aem olie sigEdl sfoloardr (UIfé mentysan) Iorhl siimeens - Jer YIDI A Ardsloltadur GBI fararemT A
THRIE IcUool B2 AP 3, 3ol Ruftpord 01501 o1 'PRIIcRI’ D fAf2Ip sreirRa a1 spEdar @ dk A forawd Aodl 3 urod 3o W] @l 34
fBre=m e UR smaeA® HETd AT SR § AT 3oT UR a9Admdr A 3if2rp de fur sri 3 b A dotia vwiferds WU A MRdARI FHATST B 3Ica
'fapR1a’ der uRufye Fasu A IcUool Bld 3: S 8d 37 UR 3163E A AR @ 3 dl urd & b seld SIoRIT @I Jder Al de goll @ Ifp aer
AU derel bl acsiisii A Sloll Yelld Sidr 8 531 U 3 olimondl @ A roRIf & detell ufeedl Jarst 3 fdeEel srorit A &f o @l 3 s
STcId QdeRuII A DIF A ol a1 forera: 3l 3 b yoriicard U A el YIpsil ar uiRvmdl Ul IRasicdd wu A A3 gl el

3 siferapion Ricror 3 siferavior sfifer Sl 3 Pr1d uruly® TS & megyfordbiaur Bt ara Ad 3

Which one of the following institutions offers a stable structural foundation and growth of normative order in Indian society?
forgoiferRaa 3 37 Dot - AT AT HRARI AT DI FARM FAGIHD olld T AGIORI aael 3 gi.g Yool D=l & ?

[Question ID = 1450][Question Description = S2_qSNz_PG_SCY_Q100]
1. Political parties/3cmfifeie get

[Option ID = 5797]
2. Democracy /el

[Option ID = 5798]
3. Bureaucracy/sitaszomgt

[Option ID = 5799]
4. Aristocracy/dqcftorde

[Option ID = 5800]

Topic:- GP36_D1_SH1_Set2_A

1) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIferpT T &A1Y 31eRIT B3 3R ofid fou gest dr 3= ¢ :
ofid & o1 afernt 3 4 fafdoor F@peil (A, B, C, D) & 5 faftroor aul 3 arcret vd arferoiait &t e (Jwst A) & o 3
(M - ara, F - arferng)

e — A B C D

| ad M F M F M F M F

2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7



2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7

2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

Find out the difference between the number of boys in School A and School B during 2016-2020.
ad 2016 - 2020 o Sizrel ¥ayet A 3iiR et B 3 srcrol &l Az @ b 3iar s @3 ©

[Question ID = 25314][Question Description = S2_qSNz_PG_GP36_Q01]
1. 440

[Option ID = 41256]
2. 445

[Option ID = 41257]
3. 450

[Option ID = 41258]
4. 460

[Option ID = 41259]

2) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIfeTBT BT £ 31ERIT B3 3R ofi fow yost dr 3R ¢ :
off &t o1 aferot 3 4 fafdoot Fpeil (A, B, C, D) & 5 fafdioor aul & arcet vd arfereiasit & iz (Jwst ) & o 3
(M - araw, F - aiféromg)

roa — A B C D
| o M F M F M F M F

2016 4.2 4.7 6.3 4.2 5.6 [3.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 |[4.7
2018 10.4 7.9 57 5.3 [5.9 6.4 [3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 (6.9 7.6 [5.4 [7.9 [7.6

Which school has the lowest number of girl students enrolled during 2016-2020?
ad 2016 - 2020 o Sizrel fopa Faar 3 omdAifepa Il bl I AR A & ?

[Question ID = 25315][Question Description = S2_qSNz_PG_GP36_Q02]
1. A

[Option ID = 41260]
2. B

[Option ID = 41261]
3. C

[Option ID = 41262]
4. D

[Option ID = 41263]

3) Study the table carefully to answer the question that follows :



The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIfermT @1 eAreIyda 31eRIol @3 3i1R ofid U yost o1 3R § :
il €1 o1$ ferant 3 4 fafdoet Tapetl (A, B, C, D) 3 5 fafdreor auf 3 arcrol va anfereisilt &t e (st ) & o &

(M - srciw, F - aiféromd)

rpa — A B C D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 [B.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 |4.7
2018 10.4 7.9 57 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 76 5.4 79 [7.6

Which school has the maximum number of boys enrolled during 2016-2020?

ad 2016 - 2020 o Sizrel b1 Fapet 3 oldAifcpd dictl DI e A4ifte 8 ?

[Question ID = 25316][Question Description = S2_qSNz_PG_GP36_Q03]

1. A

[Option ID = 41264]

2. B

[Option ID = 41265]

3. C

[Option ID = 41266]

4. D

[Option ID = 41267]

4) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIfeTpT BT eI 31ERIeT B3 3R ofi A féw yost dr 3w ¢ :
offa €} or¢ enferent 3 4 fafdroot >petl (A, B, C, D) 3 5 fafdreor auf & arcropl va anfereisil i e (st ) ¢ o 3

(M - araw, F - aiféromg)

RDcl —

| o

A

M F




2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

Which school has the minimum percentage increase in total student enrollment (both boys and girls) from 2019 to 2020?
fopa1 Fapet 31 2019 A 2020 ao SI) & el olidHibal (dicld 3R dIferd1v Slell) 3 =Yerdd yferera afig g8 ?

[Question ID = 25317][Question Description = S2_qSNz_PG_GP36_Q04]
1. A

[Option ID = 41268]
2. B

[Option ID = 41269]
3. C

[Option ID = 41270]
4. D

[Option ID = 41271]

5) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIferpT T eI 31ERIT B3 3R ofid fow gest 1 3= ¢ :
ofi &t o1 afernt 3 4 fafdoor Fpeil (A, B, C, D) & 5 fafdioor aul 3 arcret vd arfereiait &t zizen (Jwst ) & o 3
(M - srer, F - siférom)

e — A B c D
| ad M F M F M F M F

2016 4.2 4.7 6.3 42 5.6 [3.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 |[4.7
2018 10.4 7.9 57 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 8.6 (6.9 7.6 [5.4 79 [7.6

Which year has the minimum number of girls enrolled during 2016-2019?
adf 2016 - 2019 @ Sizret b1 ad ormifdpa difera1sii &bl e yetera 3 ?

[Question ID = 25318][Question Description = S2_qSNz_PG_GP36_Q05]
1. 2016

[Option ID = 41272]
2. 2017

[Option ID = 41273]
3. 2018

[Option ID = 41274]
4. 2019

[Option ID = 41275]



Topic:- GP36_D1_SH1_Set2_B

1) Which among the following is a MOOC platform?
forearferRaa 3 21 ®lot AT wat 30 30 A (Ip) wiewis 3 ?

[Question ID = 25324][Question Description = S2_qSNz_PG_GP36_Q06]

1. Urkund/3x@s

[Option ID = 41296]
2. Jitsi Meet/ et sfic

[Option ID = 41297]
3. Coursera/@RRr

[Option ID = 41298]
4. Google Meet/sprer 3fic

[Option ID = 41299]

2) ldentify the correct sequence to join a Google Meet session
A. Enter code and click continue

B. Click ASK to join

C. Click use a meeting code

D. Go to meet.google.com

E. When someone in the meeting gives you access you will join it.
Choose the correct answer from the options given below:

3paIe Jic Aq Sdisol Dol B AS! AT §dIU ©

A. @13 vez B3 3R B frars o3

B. st ¢ sdisel facrm @3

C. st 5 diifeer @Is faer® o3

D. meet.google.com uz sme

E. s/ #ifesr 3 ®I$ Ul vaRlid Sar 3, dl 31U 3A sdfsel Dol

il fou s1u fRraseul 3 2 I IR BT w6l HIfSIE ©

[Question ID = 25325][Question Description = S2_qSNz_PG_GP36_Q07]
1. A,B,D,C, E

[Option ID = 41300]
2. D,C, A, B, E

[Option ID = 41301]
3. E, A B,C,D

[Option ID = 41302]
4. D,AE B, C

[Option ID = 41303]

3) Given below are two statements

Statement I: Operant conditioning was discovered by Thorndike.

Statement II: Classical conditioning was discovered by Ivan Pavlov.

In light of the above statements, choose the most appropriate answer from the options given below
il St erel fRu sre 3 ¢

@erel - | g ggd srslmetol bl it elfolssd of &I eft

ool - |l : aeni¥rdbl siglaetol &l st sarel Uaciid of &b oft

SWRIFP Dol @ 3MIelld d, ofld 3w s1e Rrapedl 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 25326][Question Description = S2_qSNz_PG_GP36_Q08]
1. Both Statement | and Statement Il are correct/erer | 3iiz || et 3@ &

[Option ID = 41304]
2. Both Statement | and Statement Il are incorrect/@eret | 3iiz || Sloil srctc 3

[Option ID = 41305]
3. Statement | is correct but Statement Il is incorrect/@emt | 318 & , fopog weret |1 steta &



[Option ID = 41306]
4. Statement | is incorrect but Statement Il is correct/@err | srera 8, fpog @eret || 31t &

[Option ID = 41307]

4) ldentify the correct phases of activity for the Advance Organiser Model.
A. Presentation of curriculum embedding

B. Presentation of advance organiser

C. Presentation of study groups

D. Presentation of learning task or material

E. Strengthening cognitive organisation

Choose the correct answer from the options given below:
' gsat sifsforrssR dfser’ @ fore g @ 1@l @RvT Usarel :

A. urgrerIt sierrel @l yFdefiaur

B. usaiA sifelerssiz @1 gagedimur

C. 31eRIol API DI YIdcilavr

D. sif2erer orI a1 ARRY BT gadrilar

E. JsioicaA® 3100l Pl ARDIBIT

il fou s1e fraseul 9 3 I IR BI w6l HIRdIE :

[Question ID = 25327][Question Description = S2_qSNz_PG_GP36_Q09]
1. A, B and C only/@aa A, B aiiz C

[Option ID = 41308]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 41309]
3. B, D and E only/dacr B, D 3iiz E

[Option ID = 41310]
4. C, D and E only/daet C, D aie E

[Option ID = 41311]

5) Match List | with List Il

List | List Il

Human ability per Gardener's theory of
Skills

IMultiple Intelligence

I. Ability to appreciate and produce rhythm,

IA. Linguistic

tone, pitch and timbre
B. Logical-mathematical Il. Ability to handle long chains of reasoning
C. Musical lll. Ability to recognise plants and animals

X IV. Sensitivity to different functions of
D. Naturalist
language

Choose the correct answer from the options given below:

et -1 ot 2l -1l 3 AR B :

fexeh -1 Rrcht -1l
(errSor @ @i - gfy & Rigia @ sigar (@tore)
[ITeTa AYs=re)

|. TrI, dre1, dred 31 WIel &l IASI B0l MR IcUool
A, srrar forstror Fidef

a1 Bt e
B. oxas - sifdre et I1. ieft ot - of wTeTraft Bt SHsrero Bt 2T
C. ziofier zidieht IIl. ared siiz Sfidi Y UsaTeTE! Bt AT
D. yasferardt IV. sier & Rfiroer it & Rt Scerefterar

offa feu ore fmeul 3 A A&} 3a= gfere :

[Question ID = 25328][Question Description = S2_qSNz_PG_GP36_Q10]
1. A-IV,B-1II,C-1,D-1lI



[Option ID = 41312]
2. ALB-1,C-1I,D-1V

[Option ID = 41313]
3. A-1,B-1I,C-1V,D-1l

[Option ID = 41314]
4. A-11,B-1V,C-1I,D-1

[Option ID = 41315]

6) Post-positivism is related to which one of the following philosophies?
‘IR - geagrdrg' forgorferRaa 3 A fosar gofor A Hdfera 3 ?

[Question ID = 25329][Question Description = S2_qSNz_PG_GP36_Q11]
1. Subjectivism/fRifsrsdras

[Option ID = 41316]
2. Critical Realism/zmwfigicas ardaarg

[Option ID = 41317]
3. Empiricism/sfeosaars

[Option ID = 41318]
4. Objectivism/azqferodmar

[Option ID = 41319]

7) Given below are two statements

Statement I: Type | Error refers to the decision to reject the null hypothesis when it is incorrect.
Statement Il: Sampling error occurs due to the violation of the principle of random sampling.

In light of the above statements, choose the correct answer from the options given below

ofid &1 werer Ru sre 3 :

@ - | : esu - | gfe aq 3l 3 S| s1ea 9Igw ufrcust @l 3RAIPR &= 3 siar 3

@l - || : areReew yferaricr & Rigia o1 3ccitet dol & BRI Yferrid dfe aidl 3

JURITP DYoll B 3MIelid 3, ol [Su 31u fameul 3 A A8l 3= @1 T=I6t Hifste ©

[Question ID = 25330][Question Description = S2_qSNz_PG_GP36_Q12]
1. Both Statement | and Statement Il are true/erer | iz || Sloil 3rcer &

[Option ID = 41320]
2. Both Statement | and Statement Il are false/a@erwor | iz |l Slail 3RIcT &

[Option ID = 41321]
3. Statement | is true but Statement Il is false/@epr | 31 & , febog Dot |l 3R &

[Option ID = 41322]
4. Statement | is false but Statement Il is true/@emr | sRIcT 8, fbog @erer | 3T &

[Option ID = 41323]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Generalisation of a finding is possible only in quantitative studies.

Reason R: Quantitative studies make use of deductive reasoning.

In light of the above statements, choose the correct answer from the options given below

oI Q) perol i o1w 31 uep sifdraserat (Assertion A) & wu 3 iR ¢RI 3AD BRUT (Reason R) & wu 3 :

sifdrpere (A) : forsod DI ARMMGITDUT et AICHAD ERIGIL I3 WA &

@RI (R) : AGHD 31eRIGl 3 OPRIGIAD® ADBUN DI IURIIPT BT ST &

SR Dol D 3Iclid #, ofld fGu famcdl 3 A 7 3a= &1 wRIel Hifore :

[Question ID = 25331][Question Description = S2_qSNz_PG_GP36_Q13]
1. Both A and R are true and R is the correct explanation of A/ (A) 3iiz (R) glall 3= & 3z (R), (A) &t 3d camren 3

[Option ID = 41324]
2. Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) cleil 31 8 u¥oq (R), (A) 6t 3t =en o8t 8

[Option ID = 41325]
3. Ais true but R is false/(A) 3 3, afdver (R) 3R 3

[Option ID = 41326]
4. Ais false but R is true/(A) sricr &, dfdvor (R) e

[Option ID = 41327]

9) Which among the following are statistical packages?



A. SPSS

B. SAS

C. ANOVA

D. STATA

E. R

Choose the correct answer from the options given below:
forgaifeiRaa 3 3 lat A AIRKRIDGR Tdst 3 ?

A. SPSS

B. SAS

C. ANOVA

D. STATA

E.R

il fou s1u fraseul 3 A I IR BT ToTl HIfSIE ©

[Question ID = 25332][Question Description = S2_qSNz_PG_GP36_Q14]
1. A, B, Cand D only/@aa A, B, C 3k D

[Option ID = 41328]
2. B, C, D and E only/dae B, C, D sz E

[Option ID = 41329]
3. A, B, Cand E only/a@ac A, B, C iR E

[Option ID = 41330]
4. A, B, DandE only/@act A, B, D sl E

[Option ID = 41331]

10) Ethnography refers to

eollsbl T I9RT 3 -

[Question ID = 25333][Question Description = S2_qSNz_PG_GP36_Q15]

1. Aresearch design that rules out alternative causal explanations of findings deriving from it/uvd oier siféibeu Sit 331 yrd forsmul bl dpfeud BRI - DR
cIRca3ll o afdfa awzar &
[Option ID = 41332]

2. An attribute in terms of which cases do not differ. /v st forrht zfte 3t Bt 3 3R ot Bl &
[Option ID = 41333]

3. Aresearch method where the researcher immerses himself/herself in a social setting for an extended period of time for providing an account of
particular culture, society or community /o eiter fifer fSRwmt olterasaf fopeft fiforse Jzafer, ST =1 AHSRI BT quiel Bt D fore Faei crwdt srafdr ad 33 AP uf¥der
3 3B &
[Option ID = 41334]

4. A measure that is employed to refer to a concept when no direct measure is available/u® 3urt it fp3ft sratmRun @1 3M9RT RIh Bl D forw fopen ST & Siat
DIS YreIsT IURT 3UcTee! ofldl I &

[Option ID = 41335]

11) Identify the correct sequence for successful communication.
Bl AYYUT D fere E srofapdt usdrol :

[Question ID = 25334][Question Description = S2_qSNz_PG_GP36_Q16]
1. Sender — Encode message — Channel — Decode message — Audience — Feedback/Qua — 3ic9r @I d¢ dd>dol Bl — dolel — AG9I DI fAiddol dIoll —

T — Glsdd

[Option ID = 41336]
2. Sender — Encode message — Audience — Channel — Decode message — Feedback/Jum — Jid9r &1 d¢ Jddel D6l — YAl — dolel — ST DI fRIDIT
Bl — BISdD

[Option ID = 41337]
3. Sender — Encode message — Decode message — Channel — Audience — Feedback/quad — dg9r @l d¢ Aol doll — ASGIT DI Rl D6l —
Jdolcl — il — Blsdd

[Option ID = 41338]
4. Sender — Encode message — Channel — Decode message — Feedback — Audience/qua — el @I d¢ Adddol Bl —  dolcl — AS9I DI fAiddol Dol —
BIsdd — gier

[Option ID = 41339]

12) Which of the following is a physical/environmental barrier to communication?

forgarfeiRaa 31 A1 et 21 / Mt AT & forg siifere / ararazvfi aren 3 ?



[Question ID = 25335][Question Description = S2_qSNz_PG_GP36_Q17]

1. Time/3wrr

[Option ID = 41340]
2. Personality/=afepra

[Option ID = 41341]
3. Power/authority/rr / yiféreprz

[Option ID = 41342]
4. Culture/ixafr

[Option ID = 41343]

13) A lady is reflecting on the causes of the environmental crisis. She is considering and attempting to link varied variables
to make sense of the issue. This scenario is an example of

U AfSCl URITGRYI e D PRUII @ R 3 Ridel ©2 Wl 8 a6 L DI Siiolol B fe1u ool TRI @ dia Hder Fenfid mel @ d16 3 foRR iR YRIRT

[Question ID = 25336][Question Description = S2_qSNz_PG_GP36_Q18]
1. Interpersonal communication/siadafRpe iguur

[Option ID = 41344]
2. Intrapersonal communication/sid:deifepa iuur

[Option ID = 41345]
3. Mass communication/ser 3itwur

[Option ID = 41346]
4. Didactic communication/3ugerrd Jiquur

[Option ID = 41347]

14) Which one of the following is an example of 'Pull Technology' form of communication?
forsaiferRaa 3 A1 ®lel AT AYWUT 'Yel oailciisll’ geu ol 331801 3 ?

[Question ID = 25337][Question Description = S2_qSNz_PG_GP36_Q19]
1. Websites delivered to browser on search/2id @ w2 gzoR w Beffaz &t o8 damse

[Option ID = 41348]
2. Websites that are advertised/fa=ufia &t s dgmse

[Option ID = 41349]
3. Social media sites/herer fifSen amse

[Option ID = 41350]
4. Websites that are not alive/d da=mrse sht aufdgr oidt &

[Option ID = 41351]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Quality questions promote deep learning.

Reason R: The quality of questions asked determines a teacher's level of success with a lesson.

In light of the above statements, choose the correct answer from the options given below

oIl €1 perol feu a1w 31 uop sifdraserat (Assertion A) & wu 3 3ii? ¢RI 3AD BRYT (Reason R) & wu 3 :

sifSreperet (A) : spuradrgul gest siedl ifeET ol domar S 3

@Rl (R) : g8 31w ygsll &I Suradr ure @ arR 3 {9181 bl Awerdar @ Faz oI forerifya o=l 8

SR Peoil D 3Iclid #, ofld fGu famcdl 3 A 7 3a= &1 wRIel Hiforw :

[Question ID = 25338][Question Description = S2_qSNz_PG_GP36_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) glall 3= & 3z (R), (A) &t 34 camren 3

[Option ID = 41352]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 311 & udoq (R), (A) Dt 3t w=m=n o8t 3

[Option ID = 41353]
3. Ais true but R is false/(A) 2 3, afdvor (R) sricer 3

[Option ID = 41354]
4. Ais false but R is true/(A) sricr &, afdvor (R) e 8

[Option ID = 41355]

16) What comes next in the following sequence?
5, 16, 51, 158, ?

il fou 31U 3roIapdt 3 3PICT FUTel UR Dol 2l e smesfl ?
5, 16, 51, 158, ?



[Question ID = 25339][Question Description = S2_qSNz_PG_GP36_Q21]
1. 487

[Option ID = 41356]
2. 482

[Option ID = 41357]
3. 387

[Option ID = 41358]
4. 481

[Option ID = 41359]

17) Given below are two statements

Statement I: The length and breadth of a rectangle are increased by 10% and 20% respectively, then its area increases by
23%.

Statement II: In 12 hours, the hour hand and the minute hand coincide 11 times.

In light of the above statements, choose the correct answer from the options given below

il ol el fdu sre 3 ¢

@ - | : afe fopeil iR &l croars siiz dis$ 3 @aor: 10% sz 20% gl & siredl 3 A 3 giqwa 3 23 % gl deh
e - |l 1 12 =@ 3 & &t JgF 3iiz Brore &t I 11 ar v Arer Grerdt 3

JURITP Dol D 3Tl 3, ol fSu 31u fameul 3 A A8l 3= @1 =6l HifsTe &

[Question ID = 25340][Question Description = S2_qSNz_PG_GP36_Q22]
1. Both Statement | and Statement Il are true/aerer | iz || Sloil 3rcer 3

[Option ID = 41360]
2. Both Statement | and Statement Il are false/@ermet | 3i2 || Glail sric &

[Option ID = 41361]
3. Statement | is true but Statement Il is false/@emr | 3= &, fboq @eet |l 3R &

[Option ID = 41362]
4. Statement | is false but Statement Il is true/@emt | sRIcT 8, fbog werer | 3T &

[Option ID = 41363]

18) Which of the following statements are correct?

A. The product of two integers is 500 and their difference is 5. Then, one of the numbers is 25.

B. The HCF of 108, 288 and 360 is 18.

C. The least number which is exactly divisible by each one of the given numbers is called their LCM.
Choose the correct answer from the options given below:

foraifeiRaa el u? AR @3 :

A. <1 guriel @1 3pureiwe 500 3 3iiR 3otpT 3R 5 & A Jotdl A uep ¥ 25 8

B. 108, 288 3iiz 360 oI FHaa AdUad® 18 3

C. & 3 Azl d A gD crI guia: fRenfora ARt 81 AR Sae! oy Iemuact dacrdl 3

il fou s1u freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 25341][Question Description = S2_qSNz_PG_GP36_Q23]
1. A and B only/d>aer A iz B

[Option ID = 41364]
2. Aand Conly/@aet A siz C

[Option ID = 41365]
3. Band C only/d@act B siiz C

[Option ID = 41366]
4. Conly/@ae C

[Option ID = 41367]

19) The average of first 100 positive integers is
uzal 100 ereicae guiial oI sfiid 3 -

[Question ID = 25342][Question Description = S2_qSNz_PG_GP36_Q24]
1. 50

[Option ID = 41368]
2. 51.5



[Option ID = 41369]
. 50.5

[Option ID = 41370]
. 49

[Option ID = 41371]

20) What per cent decrease in salaries would exactly cancel out the 20% increase?
dereil 3 fepeol yferora bl @l Iotai ot 318 20 % b giis ol forcgperrdl @2 3ot ?

[Question ID = 25343][Question Description = S2_qSNz_PG_GP36_Q25]
1. 20%

[Option ID = 41372]

‘ 21%%

[Option ID = 41373]

~ 18% %

[Option ID = 41374]

‘!6% %

[Option ID = 41375]

21) Which of the following statements are correct with reference to argument by analogy?
A. It is a deductive type of argument

B. It is an inductive type of argument

C. It is not intended to be mathematically certain

D. It is to be classified as either valid or invalid

E. Its conclusion does not follow from the premises with logical necessity
Choose the correct answer from the options given below:

AR HRI ad D AHoecs 3 forafeilRaa 3 A dlar A deret 78 3 ?

A. a5 foPTHGIICH® YdR BT dd 3idl &

B. I8 PIIGIHD YdR DI dd> Il 3

C. g a1fordi e A forfdaa ordl drar 3

D. 321 o161 1 3G @ WU A aeilapd e s 3

E. s forsad aifdbes smagaasar @ ATl nenR araRil A o1l foraerd 3

il f3u a1 fraseul 3 A W) IR BT I HIdIE ©

[Question ID = 25344][Question Description = S2_qSNz_PG_GP36_Q26]
1. A, Cand D only/daet A, C 3sik D

[Option ID = 41376]
. A, D and E only/daer A, D siiz E

[Option ID = 41377]
. B, D and E only/a@aet B, D siiz E

[Option ID = 41378]
. B, Cand E only/dac B, C 3z E

[Option ID = 41379]

22) Match List | with List Il

List | List Il

In a Square of Opposition Resultant

IA. If 'Some girls are shy' is True

I. 'E' and 'I' propositions are Undetermined

B. If 'All men are Tall' is False

Il. 'A" and 'O’ are Undetermined

C. If 'No crows are white' is True

Ill. 'E' proposition is False; 'I' proposition is True

D. If 'some flowers are not fragrant' is False

IV. "A" proposition is False; 'O" proposition is True|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

foxeht -1

et -l

(aesardail @ forieht aqdef af )

(aformar)




A. afe ‘oz crsRoai enflcht 3' ardl 3 [I. E' site 'I' c1a$ arrr siferiaa ¥

B. <ift "anofl gew cd ¥ ot & . A" stz 0" oo ¥

C. af ‘o1 wton mds ol ¥ A B 1. E’ crasaaer srer 2; 1" erasanaer 2wt &
D. aR ‘oo geu el ol ¥ ot 2 IV. A" s st 3; "0 aasarae 78 3

offd feu a1e freul 3 A &) 3ar gfere :

[Question ID = 25345][Question Description = S2_qSNz_PG_GP36_Q27]
1. A-1,B-1I,C-1V,D-1l

[Option ID = 41380]
2. A-lILB-IV,C-1,D-1l

[Option ID = 41381]
3. A-IV,B-1l,C-1,D- 1l

[Option ID = 41382]
4. A-1,B-1,C-1V,D-1Il

[Option ID = 41383]

23) ldentify the fallacy committed in the argument.
All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.
il fou s1e a@ i Bl ATy 3 ?

13fl urerq] SietaR #13¢] SiolaR &

DI Yollwiol T STioIaR oidl 3

sfere, ©o Yellowiol urerq sieraR o8l 3

[Question ID = 25346][Question Description = S2_qSNz_PG_GP36_Q28]
1. Fallacy of Illicit Minor/remd - uet - g

[Option ID = 41384]
2. Fallacy of Illicit Major/srema - et - gl

[Option ID = 41385]
3. Fallacy of Four terms/aqwus - giw

[Option ID = 41386]
4. Existential fallacy/si¥arauz® gy

[Option ID = 41387]

24) When an unperceived fact is supposed in order to resolve an apparent contradiction in the presented phenomenon, which one of the following

pramanas is employed according to Advaitins?
S Rt g acen 3 RRIETHRT @1 Ja1enel ®Il & fore ot sigeagt aear ol srfwfora fovar Siar 8, ad srgdl @ SR forsiferRaa 3 3 e yar @1 IuRieT fasan sirar 3 ?

[Question ID = 25347][Question Description = S2_qSNz_PG_GP36_Q29]
1. Pratyaksa/ycuet

[Option ID = 41388]
2. Anumara/aiofsret

[Option ID = 41389]
3. Arthapatti/srerfufer

[Option ID = 41390]
4. Anupalabdhi/ sopuetfeer

[Option ID = 41391]

25) Given below are two statements

Statement I: The aim of Naiyayikas in formulating the anumana theory is to obtain prama (right knowledge).
Statement Il: The aim of Naiyayikas in formulating the anumana theory is to verify only and only formal validity.
In light of the above statements, choose the correct answer from the options given below

ofi <1 et Ru sme 3 :

were - | : segere Rigia @ yferurce 3 oRnRrapl o1 339 garr (31 SiIeT) Yre Bl 3

ool - |l 2 srgperet Rrgia @ gferarcar 3 sl o1 339w dac SR dac fuaif¥e fafeiear a1 Jcarue el &

SR el d 3irclld 3, offd fu sre fmeul 3 A 7Bl IR @I w6l BRI

[Question ID = 25348][Question Description = S2_qSNz_PG_GP36_Q30]
1. Both Statement | and Statement Il are true/em | 3i || Sloll 3T &



[Option ID = 41392]
2. Both Statement | and Statement Il are false/aerwor | iz |l Qail 3RIcT &

[Option ID = 41393]
3. Statement | is true but Statement Il is false/@ewer | 311 &, fbog et || sricT

[Option ID = 41394]
4. Statement | is false but Statement Il is true/memt | srRict 8, fbog weer || 21t &

[Option ID = 41395]

26) A Network Interface Card (NIC) contains
Slea® $BA oIS (el 31r$ A1) 3 e 3 -

[Question ID = 25349][Question Description = S2_qSNz_PG_GP36_Q31]
1. Domain address/sSier vt

[Option ID = 41396]
2. IP address/amsdt v

[Option ID = 41397]
3. MAC address/v# u it (D) g

[Option ID = 41398]
4. Port address/ai¢ v

[Option ID = 41399]

27) The number of bits in IPvé addressing are:
IPv6 w3Risr 3 fopaor farga ala 3 ?

[Question ID = 25350][Question Description = S2_qSNz_PG_GP36_Q32]
1. 32 bits/32 fcx

[Option ID = 41400]
2. 64 bits/64 Ricat

[Option ID = 41401]
3. 128 bits/128 <

[Option ID = 41402]
4. 256 bits/256 Ricar

[Option ID = 41403]

28) Given below are two statements regarding Wireless Access Points (WAPs).
Statement I: WAPs are connected into the wired network at fixed locations.

Statement Il: The WAP receives and transmits data between the two wired LANs.

In light of the above statements, choose the correct answer from the options given below

ARICIA TR WIEcA (Socg U Ul) o eer 3 ofi) of werot fRu a1e 3 :

ool - | secy u ol forerif¥a Fermell tr AR b olcad A F3S A

@ - |l : Secy w Ul Gl AR - Jeb el © vol (cliper UhRa oleaas) @ dia 3e1 gr siik gfta @ &
SWRITP Dol B 3IIelld 3, ofid U 318 frapeul 3 A ASl IR DI ol DHIfSTQ

[Question ID = 25351][Question Description = S2_qSNz_PG_GP36_Q33]
1. Both Statement | and Statement Il are true/aerer | iz || Sloil 3rcer &

[Option ID = 41404]
2. Both Statement | and Statement Il are false/a@erwor | iz |l Qail 3RIcT &

[Option ID = 41405]
3. Statement | is true but Statement Il is false/@emwr | 31 8, fbog @erwe |l sRII & |

[Option ID = 41406]
4. Statement | is false but Statement Il is true/emr | sRIcT 8, fbog @erer | 3T &

[Option ID = 41407]

29) Following are the statements regarding a Repeater
A. It distributes the data packets

B. It is added to transmission systems to boost the signal
C. It sends the data to a specific computer

D. It can also be used on wireless systems

Choose the correct answer from the options given below:



frdice @ an 3 ofid weror Ru s 3 :

A. 316 3a1 U @ faafa ozar 3

B. 33 Rioorer ot affa w1 @ fore iarvr yurrell & sirst siar 3
C. uzs fafdrse BezIez B e NIl 3

D. saropt IURNT AR - AM3a gonferil 3 off e s Apar 3

ofi o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 25352][Question Description = S2_qSNz_PG_GP36_Q34]
1. Aand D only/@det A 3sik D

[Option ID = 41411]
2. A, Band Conly/dda A, B sz C

[Option ID = 41408]
3. B and D only/daa B sfiz D

[Option ID = 41409]
4. Cand D only/@aet C sz D

[Option ID = 41410]

30) Match List | with List Il

List | List Il
Devices Example
IA. Input devices I. Radio frequency identification readers|

B. Direct data entry|ll. DVD
C. Output devices |III. Joysticks

D. Data backup |IV. Speakers

Choose the correct answer from the options given below:

el -1 Bt el -1l A AR Hife :

et -1 et -1l
(Sarsrst) (3515301)

A. Breh gfval (sote Barsor) 1. 3R uglardia) e dfibaboron N5l
B. sivac Yor ol I & @&

C. it afimaii (3 3cue Barsaton . stferfeas

D. 3c1 dw - 31 IV. st

ofid fOu a1w fascul 3 A A1) 3ar gfere ©

[Question ID = 25353][Question Description = S2_qSNz_PG_GP36_Q35]
1. A-L,B-lILbC-1,D-IV

[Option ID = 41412]
2. ALB-1,C-1I,D-1V

[Option ID = 41413]
3. A-ULB-1,C-1V,D-1l

[Option ID = 41414]
4. A-IV,B-1,C-1I,D-1ll

[Option ID = 41415]

31) Biochemical Oxygen Demand (BOD) is a key indicator of the process performance of waste water treatment plant. The
plant is said to be efficient, when BOD:

TR sffafistor Bais (f130h) srafdrse sier oNeret IRig & PRI forsurcel oI U PRI ADAD & fopil FRiq DI ad AR Dal Sl 3 SId
it -

[Question ID = 25354][Question Description = S2_qSNz_PG_GP36_Q36]
1. Increases/sadl 2

[Option ID = 41416]
2. Decreases/=erdt 3

[Option ID = 41417]
3. Remains unchanged/smafefa vadt &

[Option ID = 41418]
4. Increases for first 36 hours/uact 36 &cl 3 agedt 2

[Option ID = 41419]

32) Over the past 100 years, the estimated rise of global sea level is by 10 to 25 cms or more. This is attributed to which of
the following?

A. Thermal contraction of ocean water



B. Melting of glaciers and small ice caps

C. Thinning of the Greenland ice sheet

D. Changes in terrestrial water storage

Choose the correct answer from the options given below:

fireet 100 quf 3 faea 3 2mIg a= 3 10 A 25 il a1 siféres &t giy Slol @I 3epa & $ADI PRYI & -
A. HABRIPRERI Sicl T dIdi™ - ol

B. fBaorcl 3l o1y fBAfdRRI @1 fRreEreton

C. 3ffcicivs &t a0 b a1 DI Udd Bl

D. Ferctiz StemisRur 3 uf¥ader

il fou s1u Ryeseul 3 2 I IR BT w6l HIfSIE ©

[Question ID = 25355][Question Description = S2_qSNz_PG_GP36_Q37]
1. Band C only/dqct B sfiz C

[Option ID = 41420]
2. A, B and C only/daa A, B aie C

[Option ID = 41421]
3. B, Cand D only/dae B, C 3z D

[Option ID = 41422]
4. A, Cand D only/d@ae A, C sfiz D

[Option ID = 41423]

33) The main concept behind solar ponds to store the solar energy is
AR Holl D HUSRUT B forg AHler digAa @ UIS I [@eRun 3 -

[Question ID = 25356][Question Description = S2_qSNz_PG_GP36_Q38]
1. Presence of sand in the pond/dreia 3t dTe] BT URT Sitell

[Option ID = 41424]
2. Fixed salt gradient from surface to bottom in the pond/aret 3 s 3 At AD cIavl & IR DUl DI URT el

[Option ID = 41425]
3. Uniform salinity of pond/arei &t ueb w6l cIauiar

[Option ID = 41426]
4. Presence of solar cells in the pond/drcia 3t 3MeR et T RN Siol

[Option ID = 41427]

34) Disaster Management Act came into existence in
eI gderol sifeiforent fipa ad sifrforifdra fopem srm ?

[Question ID = 25357][Question Description = S2_qSNz_PG_GP36_Q39]
1. 1985

[Option ID = 41428]
2. 1992

[Option ID = 41429]
3. 2000

[Option ID = 41430]
4. 2005

[Option ID = 41431]

35) Arrange the following components of municipal solid waste in order of their increasing abundance.
A. Paper and Cardboard

B. Food

C. Tin Cans

D. Dirt and Ash

E. Textiles

Choose the correct answer from the options given below:

SPRUIfTDT @ ST 3rafdree o forFoIftiRad el B JoTd UTg Sl @ a6 B 3 3 :

A. ®PE AR FEES

B. siistot



C. 8o & ol s

D. get siiz 3ra

E. aeq

ofi o s1u fasedl & A A8} IR BT wRI6l BT :

[Question ID = 25358][Question Description = S2_qSNz_PG_GP36_Q40]
1. E,C,D, A, B

[Option ID = 41432]
2. C,E, D, B, A

[Option ID = 41433]
3. E,C,A,D,B

[Option ID = 41434]
4. E,C,D,B, A

[Option ID = 41435]

36) The main reason for low enrollment in vocational education courses in India is
MR I cAraAIRie 19181 urgrapdl 3 forgol - oleidol I PIRT PRUI 3 -

[Question ID = 25359][Question Description = S2_qSNz_PG_GP36_Q41]
1. High fee structure/3ca gcm icon

[Option ID = 41436]
2. Wrong perception of vocational education among students and parents/sIqi siiz sifdismaci 3 ciranRic forgn @ ar 9 sicld e

[Option ID = 41437]
3. Lack of adequate infrastructure to impart Vocational education/cmanRis e ygier dor @ fore wRify razizdolr T sieima

[Option ID = 41438]
4. Unavailability of large number of vocational courses/ast RN 3 RMGARD UIGRIaEH! B Sopucistrr

[Option ID = 41439]

37) Which one of the following sections of the UGC Act is concerned with the promotion and coordination of university
education for the maintenance of standards of teaching examination and research?

3 oit 2t siftifortar b forgsifeiRan 3 3 wlet 2l emar g1 udlgn siiz oNer & aAlold ol ol @ fere faeafdencry 18 @ Faele siiz AHcaIel A
Jdfera 3 ?

[Question ID = 25360][Question Description = S2_qSNz_PG_GP36_Q42]
1. Section 28/emr - 28

[Option ID = 41440]
2. Section 25/emr - 25

[Option ID = 41441]
3. Section 14/emr - 14

[Option ID = 41442]
4. Section 12/emr - 12

[Option ID = 41443]

38) What per cent of the children's brain development occurs prior to 6 years?
6 ad & 3y A usc gl B ARTED BT fbael yftiera Rt 8t sirar 8 ?

[Question ID = 25361][Question Description = S2_qSNz_PG_GP36_Q43]
1. 25%

[Option ID = 41444]
2. 45%

[Option ID = 41445]
3. 65%

[Option ID = 41446]
4. 85%

[Option ID = 41447]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The aim of education in ancient India was not just the acquisition of knowledge but preparation for life in this
world beyond schooling.

Reason R: Ancient Indian education laid emphasis on complete realisation and liberation of self.

In light of the above statements, choose the most appropriate answer from the options given below



ofld 3l Berel fRu s1e 3@ up sifdrperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :

aifdrperet (A) : grefiol sira 3 1811 T 329 AT SiTol YT Dol oldl oI dfced BIq Pl Faeil 19181 A U 531 SPIA 3 Shldol @ e F-R ®on e
@ruI (R) : yrefior sirediz o181 of gut sirearsimet iz sica - JFRP U= et &=

IRITP Pall D el A, offd 3w faasedl 3 A A8 IR o1 TRt Hifste :

[Question ID = 25362][Question Description = S2_qSNz_PG_GP36_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) 3l (R) ciail 38t 3 3l (R), (A) &t 3 wmen &

[Option ID = 41448]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) sik (R) cleil 2l 8 u3oq (R), (A) &t Al = o8t &
[Option ID = 41449]

3. Ais correct but R is not correct/(A) 3@t @ uw3sq (R) 1@t o1dt

[Option ID = 41450]
4. Ais not correct but R is correct/(A) 3@t a8t 8 u¥og (R) &t 8

[Option ID = 41451]

40) Given below are two statements
Statement I: Value development requires conscious, planned and deliberate attempts by the school and the teachers.
Statement II: Values needed for sustainable development cannot be taught in a school setting.

In light of the above statements, choose the most appropriate answer from the options given below

ofi &1 erer RRu sre 3 :

@t - | @ e - fapra @ fore Fapet SiiR sreamuet & FRId6! AforNfSia iz Fferanfya gt smagae i 3
oot - || : Taa faer @ fore smavae aca Faell arararur # orél Rram s awd &

SURITP Dol D 3l H, ofld Gy famcdl 3 A 73l 3a= @1 wRIel Hifsrw :

[Question ID = 25363][Question Description = S2_qSNz_PG_GP36_Q45]
1. Both Statement | and Statement Il are correct/wmeret | 3iiz || Seil 21 &
[Option ID = 41452]
2. Both Statement | and Statement Il are incorrect/aerer | 3iiz || Soil srcta 3
[Option ID = 41453]
3. Statement | is correct but Statement Il is incorrect/mert | @l €, fboq @ewel |l s &

[Option ID = 41454]
4. Statement | is incorrect but Statement Il is correct/@ermr | srer &, fpog werer || 31t &

[Option ID = 41455]

Topic:- GP36_D1_SH1_Set2_C

1) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

fogatferRae srerior @l eareIgde® ug 31 ol 3w 31w Yot oot Jaz difste :

3IST &3 I UTol 3R G:& A <ol D YJART @ WU 3 ARG Siidel Bl SARSAT B30l B YR ©d 3 31U ofiy 16 @6 3@ alel 5 Jgaardt as
o5t gadl 3 5 9101 &) s ol form SIe fos AT Sof 329301 Bl I d2ot T YART BT 3, Afdbol Y IR s 3 fob a6 Y1 aril Araen 3 o
fp2ft 3 BRI B B2 A I frcrar bl vaen & Gl 36 BRI B! A ¥l A Yool WR 3 ab R ol a1 SR & @RI Ao
3id:B201 BT APIGlel $ADI R Bl 3 ad Az Yool Iodl & fb 3ud ur adl fafdree sid:azor HA 3 Sl 3AD urd 3 nffas Faref o1 Rigia
? Afdpol AT 316 AD D oI fop=l uap a3l A 3ol f&a &I ulmedsit By w1 & F28, AT YIreol, AT gged DI 53T AT 3RUTE 14 A
BRI seaARily sl SIiar 3 ? AW 3Uoil FRgN Ol uftpeuonl DA D 3, d Yfersol v AleId 8, d Yyded D ATer6ll DI UATl DA BIN 3, AT
3IcH b1 AfBIYRI o= 3 fribl d Rify ared 3 ? 34, g4, sid:awl, 3ursiol, eI, afg, forgumar for:ics u A €8 adld 3 RerRl Yia A



il BRI w2 & 3ol 339l DI Yra Dol bl Assl ggiern 3 AAwdl 3 Aftbol 329A @I @I 9ft el AT 33 gra ool &l yghril a1 o1 avfer
ai¥vIRl RIGeR I RS 18l B2 APl & U8 A [P AR TrdIcdHUI B 3 Sl 3 91 DI A 3 [ Iold MHRIT - ARl den IAAR D
|1 3 IoIdl AR YR o frIR, Higen 3z fogan 3 forerires ara Biddl 8 3cr182u1 @ feru Afe ar«afdmdar 31k Ao 3elfdRn @ dia Ader
3gcael iR Sigparford glol @ SeIRI Yeael 3R dcaplel aldl & al siforvfr siiz fawerar @1 uar o1dl acien 3R (AfS 3361 A YA aftp IAR 3 seoft
JAcdbiviar & Arer %6 61 3 SR b ues acan st 3 ar 3), off Feifs 9if of Us oIél war diar {95 sruol ¥ ara @ gerd oil e @ srcrdar B off AgTT
3 6 SIb A DA oIdl BT 8 SIA B up dielr B 8

What is the main issue when man pursues hedonistic goals?
ST IS JFAIST 39T DI Y B0l DI YARI BN & 0 I JET a=T SIel 3 ?
[Question ID = 25364][Question Description = S2_qSNz_PG_GP36_Q46]

1. Seeking pleasure self/¥a Ja amsen
[Option ID = 41456]

2. Single course of choice/wer fdmeu
[Option ID = 41457]

3. Multiple preferences/seia yreifdaams

[Option ID = 41458]
4. One's own conscience/xIfkb @1 =i BT iA:BT

[Option ID = 41459]

2) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgaiferRaa srerior ol earegde U 31 offd f&u 31w yeat o1 Iz difto :

33T &3 I UTol 3R g A TTIol D YART D P4 A AMHAINSID Siidel Bl RIRKRAT Dol DI YARI B & 34 9fiy As s 3 30l b Jwardt as
geal godl 3 b sicl & u1s a6l forn St fop oIS $o1 329301 Bl Yra 2ol DI GRIRT B¢l 3, ciftbol YR IWRAI A6 3 fop a6 Va1 o=l Araar 3 fp
fopet 3D BRI B B A Fa Ricrar bt Fvraen 3 Safds 3o BRI W A oEl A Yool WR 3 ad AR oidl b sR & @R g1 &
3BT DI APRIGIGT $AD! RIRR BT 3 a9 AT Yl Iodl & fob IAD urAa adl fafdree sia:as2or BA 3 Sl 3AD urA & fdfas Faref @1 RBrgia
? <ifepol AT 3160 D D Tl fpil vep adld A 3ruel B &I ulvcust BA wer 3 A8, AT YISl A1 Yeged Bl 51 AT 3RUTE WU A
BRI sircaAfily @ar sirar 3 ? Ao 1ol Jgn &I ufvcust BA @ 3, d yferssl A Alerd 3, A Ygied @ ATeoll DI Udl DA P 3, AT
3ircH o1 MfIgrRI o= 3 Rridbt a Rify arsa 3 ? 34, g4, sia:wev, 3ursiol, eI, iy, forgumarn for:zics wu A €8 adid 3 Rerl Yika aw:
<ol DR w2 T $of 3T9AT DI YIA 2ol bl AssT Ygieri 31 Adddl 3 Afdvol 329 BT DI 9t Beret a1 3A Y Dol Bt ygferil o1 d1E qufor
afuIEll RIaerR dI RRRT o1él B2 ADAI & As AR [P AR dArdIedHUl DA & Sl A dId DI AGd & [P IoId MHRI - aIdraUT dor JAAR D
R 3 Jordl srial¥e yrgferi Joid frar, sirdon siiz fogzn 31 forerfes awa il ¥ Igeur & fere Afe arafdear iz #ea sioifpn & dia der
AgeAel 33 SrgIford Slol B SSIRI Yeael 31 dcblel 3l & dl siforvf sl farserar o1 uar o1&l acien iz (Afe 33 A YA® cafep AR ¥ saoft
AbIvfar & a1er 3 BT & SR 6 ves acan st 3 a1 8), off Joifs 9if ol A6 ol el Al b sruet ¥ dara @ Y ol Ale D IrcIdl B off Ao
3 6 S A P oldl DI 3 SIA DI v dien @l &

A man'’s course of action is guided by
diora fopen fopad g1 aeicidfa axdl 3 ?

[Question ID = 25365][Question Description = S2_qSNz_PG_GP36_Q47]
1. Collective action/zmfde fgzm gt

[Option ID = 41460]
2. Critical evaluation of choices/fdweul @ Jfigncad Fcridol gRT

[Option ID = 41461]
3. Pursuit of self-interest/zaref grr

[Option ID = 41462]
4. The thought of social welfare/mEnfSie @weenvt @ far grRI

[Option ID = 41463]

3) Read the given passage and answer the question that follows :
Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one



course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferfac srerior @ earegda U iz ofld fGu a8 yeor @t I Sifvre :

33T &3 I UTal 312 G A Teel D YJART D WU 3 ARMRID Sildel Bl RARRIT @36l B YRR @ 3 3mu ofiy a6 @6 3 aldl 5 gaaardt as
gosl ysdl & oo e1ct &1 s Aol ferRI SIe o AT 361 3293l DI g @0l I YRIRT DAl 3, cIfchol Y AT S & b a6 QAT =il Al 38 o
fopfl srged DRI B Dot A I fBreror bt siraoen 3 S1afes 3o BRI B! A oIl A Yoo UR 3G b fdaR ol fopar srm & o= AT D
BT DI APIGIeT $HD! RIRRT BIAI 3 ad AT Yl Iodl & fob 3ud ura adl fafdree sia:aszor SA 3 Sl 3AD urd & sufdfa Faref o1 RBigia
? cifepol TSI 3161 AND D Tl Pl vep Al A 36l 3a &I ulscust BA wer 3 R8I, AT YIrsol, A1 Yegrd Dl 501 AT 3RUTE WU A
BRI sircaARifly @ar siiar 3 ? o 1ol e &I ufvcust BA @ 3, d yferssT A Alerd 3, A Ysicd D ATe6ll DI Ul DA oI 3, Al
3IeH 1 YR o= 3 frRIhY d Rifs ared 3 ? 3, g, sia:mvl, 3ursiol, eI, gig, forgumar for:2ics U A o8 adid 3 Kerl gia s
clvl ORI ®3A  Fol 359Ul DI Yra Dol bl Assl ygfera 81 Aaddl & cifdbor 329 o1 DI 9l werer A1 33 Yra @l dI ygferdl @1 oI quior
aivIRl RIGeR I RRRI 18l B2 APl & U8 A [ AR ArdIcdyUl B 3 Sl 3 dId DI A 3 [P Iold MHRIT - ARl de IAAR D
R 3 Jordl stiaf¥es YR Sord famR, siraon 3iiz fogzn 3 forerives ara aicfl 3 Sersur & forw afe arafdedar iz aiora siolfdpzn & e Ader
3AgcAel 33 oot dlol > ISIRI YeAel 31 dcaplel Bl & dl siforvie siiz fawserar o1 uar o1&l acien 3iiz (Al a3l A yA® cafep AR i st
AbIviar & AT 36 @I S SR 15 uas acar 9t 3 3aar 3), off Foifs 9if of A1s ol war Al 5 3ruet ¥ daTa @ Yo il Ale D Al B it AT
3 6 SIb A DA oIdl Dl 8 SIA bl up dien w8

The thoughts of men are decided by
o=l B frar fpad grr fererfyda a3 ?
[Question ID = 25366][Question Description = S2_qSNz_PG_GP36_Q48]

1. Their environment/36Id> armaur grRI
[Option ID = 41464]

2. Their behaviour/3od ®Ia8R gRI
[Option ID = 41465]

3. Societal tendencies/zmnfes ygferil grRt

[Option ID = 41466]
4. Their inner perception of the world/3RiR @ &R 3 3ot 3iiAf¥® erRvn grRI

[Option ID = 41467]

4) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferRad srerior @l eareIgde® U 31z ofid 3w 31w yeat @1 Jaz difste :

315U &3 I UTal 3R g3 A TaIol D YARI D WU A ARNRID Siidol Bl RIRSAT D61 DI JIRI DA & 34 iy A6 e W ol b Jmat as
9ol godl 3 b sicl & u1s 16l forn ST fob oIS $o1 329301 Bl YIa @20l Bl GRIRT Bl 3, clftbol Y IR A6 3 fob a6 V1 o=l Alaar 3 fp
fop2t 3D BRI B B A IPa frcrar bt Fvaen 3 Gl 36 BRI B A ¥l A Yool WR 3 ad AR ol b sR 8 @R g1 &
ic:u1 I APIGelel $ADI RN Bl 3 ad Az Yol Iodl 3 fb 3ud ur adl fafdrse sid:a2or BA 3 Sl 3AD urd 3 snffa Faref o1 Rigia
? <ifepol AT 3161 ASND D oI fopil uep afld A 3ruel B &I ufvwcust BA @r 3 A8, AT YIrsst, A1 Yogrd bl 91 AT 3RUSE WU A
RRI seaARify sl SIiar 3 ? AW 3Uofl FRgn Ol ufdpcuont DA dd 3, d gfersol v Al 3, d Yyied D ATeU6ll DI UdAl DA PI 3, AT
3reH o1 AfBIYRI o= 3 Rridbt @ Rify arsd 3 ? 34, g4, sia:wev, 3ursiol, eI, iy, forgumar for:zics wu A €8 adid 3 Rerl gika A
cloT BRI B & ol 359l DI Yra Dol bl AssT ygiern 3 Awdl & Afdpol 329d T DI 9ft wperer AT 33 Y B0l Bl yaferil a1 o1 avier
af¥uIRll RIaeR Gl RIS 18 B2 APl & U8 a {5 AR TArdIcAHUT B3 3 Sl A dId DI A & b Iord MRl - ardreaRvl den AR D



R 3 Jorchl sriaf¥e YFAferRn Joid R, siden ik fpan 3 forafves ama 8t ¥ Sereeur @ e afe arafdear iz s srofegen @& S Ader
3geael 3R sropaIfold Blol @ SSIRI Yeuel 3R dcaplel 3Idl 3 dl 3ifolvi 3iir fwberar @1 uar o1l arcien 3R (Al 33 A YeAP Afth FAR 3 sefofl
Jdblufar & rer 3 @1 & S o vep acan ot 3 2aar 3), off gaifsS 9if of Uz o1l @ alar b sruol IR dra @ Yera oil Ae D 3icTar DI 31t Hwa
32 8 SIP A DI oldl Bl 3 SIRI Dl U ulen ol 3

If the connect between reality and human response is direct, it will result in
Ife ar<afdadar 3R Alor IMelfiRn o i Ader YeAagt 3iar 3, dl DI Ufeund siem -

[Question ID = 25367][Question Description = S2_qSNz_PG_GP36_Q49]
1. Self-realisation/smcaf¥ify
[Option ID = 41468]
2. Acquistion of prestige/yfersor @1 3ursior
[Option ID = 41469]
3. Successful actions/wer fageme

[Option ID = 41470]
4. Useful theorisation/3ueisft RBrgidiazor

[Option ID = 41471]

5) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferRaa srerior ol eareIgde ug 3iR ofld fou s1w Yoot ot Ja= difste :

TST &3 P UTal 317 G A Tol D YART D WU 3 ARMRID Sildel Bl RARRIT @36l B YRR @ 3 3mu ofig a6 @6 3 aldl 5 gaaardt as
gesl godl 3 & s1cl & s Aol forn S fob Aosa sof 329301 @l YIa ol DI YRIIRT DI 3, clftbol YA AR As 3 Iob a8 Y1 o=l Aladr 3 i
fop2il 31> DRI DI Dol A J fBictol DI AHHIGel & SIEfd 36 DRI Dl A IEl A Yool UR 36 dd [GRIR o1dl ol 3R & TR AT D
DT DI APIGIeT $HD! RIRRT BIAT 3 ad AT Yl Iodl & fob 3ud urd adl fafdree sia:aszor SA 3 Sl 3AD urd & sfdfa Faref o1 RBigia
? cifdpol AT 316 D D IR fepdl uap a3l A 3ol f3d &I ulmeusit DA DT & F3EM, AT YIreol, AT Ygrd DI 581 AT U WU A
BRI sreaRify a1 sirar 3 ? #AgwI 3ruofl Pgn &I ufdseuon A dd &, d yfersor fpA Al 3, d Yygea D ATer6ll DI UAl DA Pl 3, AT
3IeH ol AMBIYRI =i 3 frRIb! d Rifs ared 3 ? 3, g:ag, sia:®vl, 3ursial, eI, gig, forgumar for:2ics U A B8 adid 3 Rerl ia o
il BRI ©d & 3ol 339l DI Y Dol bl Assl ggiern 3 AAwdl 3 Aftbol 329A @I DI 9ft erel AT 33 gra ool &l ygheril a1 oI avfer
ai¥vIRl RIGeR I RRRI I8l B2 APl & U8 A [ AR TrdIcduUl B 3 Sl 3 dId DI A 3 [ Ioid MHRIT - ARl den IAAR D
91 3 JoIdl Al YR 3o forR, Hrgen 3iiz fopan 3 foreries ara Biddl 8 Screul @ feru Afe arafdmdar ik Ao SieifdRn @ dia Ader
gl iR Sigparford alol @ SeIRI Yeael 3R dcaplel aldl & al 3iforvfr siiz fawerar 1 uar o8l acien 3R (AfS 3361 A YA® aftp FAR 3 seoft
Jcbiviar & Arer %6 a1 3 SRl b v acan smt 3t aar 3), off @eifs 9if o Us orél war diar {36 sruol ¥ ara @ gerd oil e @ srcrar B off AT
3 6 S A DA oIdl DI 8 SIA B up dienr dxr 8

The gist of the passage is that the human behaviour is dictated by
STEliel BT AR AT 3 5 Hrold wrasz B aXear 3 -

[Question ID = 25368][Question Description = S2_qSNz_PG_GP36_Q50]
1. The harsh realities of the world/zikiR &t BokR arFafdadmsii grt

[Option ID = 41472]
2. Choices for pleasure/3a @ el grRI

[Option ID = 41473]
3. Seeking smugness in a false world/fien Seia 3 idbiviar smeor gRI

[Option ID = 41474]
4. Emotional vagueness/drcaid 3RUSCAl GRI

[Option ID = 41475]









